Svenska Bridgeférbundet
SM Par Open semifinal omgang 2

Partavling, 85 bord, 170 par. Antal brickor: 44. Medel: 3696.8.

Plac Par
1 405
2 512
3 322
4 432
5 225
6 515
7 506
8 301
9 208
10 532
11 508
12 210
13 311
14 424
15 234
16 211
17 401
18 118
19 418
20 110
21 520
22 226
23 514
24 330
25 233
26 214
27 326
28 427
29 223
30 402
31 501
32 103
33 332
34 121
35 320
36 516
37 412
38 101
39 124
40 428
41 513
42 426
43 102
44 416
45 325
46 111
47 511
48 318
49 224
50 105
51 321
52 221
53 502
54 324
55 413
56 523
57 123
58 217
59 116
60 212
61 108
62 434
63 423
64 328
65 331
66 104
67 323
68 314
69 230
70 408
71 522
72 120
73 433
74 229
75 313
76 305
77 303
78 407
79 122
80 203
81 132
82 517
83 219
84 204
85 403

Poang

4668.1
4599.7
4595.3
4577.9
4533.8
4511.4
4500.5
4484.8
4394.0
4387.5
4382.8
4323.2
4312.9
4300.9
4281.7
4265.5
4243.7
4237.5
4232.6
4226.1
4224.7
4222.5
4208.6
4197.8
4137.6
4136.3
4135.7
4134.5
4132.1
4120.8
4119.5
4118.9
41131
4112.9
4101.7
4088.0
4087.1
4075.8
4071.9
4022.4
4019.9
4014.7
3993.9
3982.9
3955.4
3953.3
3942.6
3930.5
3930.3
3914.0
3913.7
3913.0
3904.3
3897.0
3874.7
3874.7
3868.3
3864.5
3862.0
3858.4
3853.7
3848.7
3848.4
3841.7
3821.1
3813.6
3811.5
3809.6
3798.4
3797.6
3785.2
3770.0
3755.6
3744.7
3744.4
3736.2
3709.0
3695.7
3694.0
3683.1
3669.3
3667.6
3667.2
3666.0
3663.3

%

63.15
62.23
62.17
61.93
61.33
61.03
60.88
60.67
59.44
59.35
59.29
58.48
58.35
58.18
57.92
57.70
57.41
57.33
57.26
57.17
57.15
57.12
56.93
56.79
55.97
55.96
55.95
55.93
55.90
55.75
55.73
55.72
55.64
55.64
55.49
55.30
55.29
55.14
55.08
54.42
54.38
54.31
54.03
53.88
53.51
53.48
53.34
53.17
53.17
52.95
52.94
52.94
52.82
52.72
52.42
52.42
52.33
52.28
52.25
52.20
52.13
52.07
52.06
51.97
51.69
51.59
51.56
51.54
51.38
51.37
51.21
51.00
50.81
50.66
50.66
50.54
50.18
50.00
49.97
49.83
49.64
49.62
49.61
49.59
49.56

Namn

Mats Sjoberg - Hakan Straaf

Peter Billgren - Bjorn Sanzén

Bjorn Alenfalk - Hans Kvick

Tommy Andersson - Peder Nilsson
Mikael Johansson - Jonas Dawerstrand
Bjorn Ohlsson - Peter Olofsson

Lars Ramquist - Frank Westman
Henrik Noberius - Bo Roos

Kati Nordin - Kjell Nordin

Mikael Olsson - Tommy Svensson
Anders Blomé - Ulf Nohrén

Per Leandersson - Jan-Olov Andersson
Kjell Carlsson - Sven-Erik Hallkvist

Eric Arvidsson - Jonas Engstrom

Eva Gunnarsson - Peter Modh

Gunnar Elmroth - Leif Trapp

Sven-Olof Gardman - Lambert Johannesson
Catharina Forsberg - Maria Gronkvist
Per-Erik Malmstrém - Daniel Salomonsson
Leif Axelsson - Markus Hedstrom

Kurt Johansson - Johnny Petersson
Agneta Oppenstam - Hakan Nilsson
Morgan Antonsson - Johnny Johansson
Pyttsi Flodqvist - Lars Jeppsson
Lars-Erik Nilsson - Jan-Ake Ohlsson
Lars-Ake Gustafsson - Rudi Knutson
Pia Andersson - Arne Larsson

Bertil-G Johnson - Johan Karlsson
Fredrik Wahlberg - Johan Wahlberg
Torgny Andreasson - Kaj Friberg
Hakan Johansson - Goran Lidgren
Nils-Erik Ekholm - Ingemar Henrysson
Fredrik Alfredsson - Daniel Gullberg
Peter Johansson - Lars Kjellersson
Henrik Dellien - Kent Karlsson

Helena Strdmberg - Dan Bylund
Thomas Axenbratt - Henrik Fryklund
Bengt Svedrell - Christer Winther
Pernilla Andreasson - Kjell Holmgren
UIf Backman - Stefan Lilja

Kjell Karlsson - Jan Sonnerstedt

Lars Blomgvist - Arne Hall

Jaan Heinlo - Kjell Sedelius

Robert Frank - Johan Gdéransson

Lars Kennethsson - Arne Blomqgvist
Jan-Erik Helmersson - Jérgen Neldemo
Erik Bergengren - Hans Johannesson
Rolf Glyssner - Valter Johansson
Hans-Ove Sandin - Bo Sundell

Jan Nilsson - Simon Nilsson

Anna Zack-Einarsson - Bengt-Erik Efraimsson
Robert Back - Goran Selldén

Jan Gutenwik - Peter Juhlin

Thomas Karlsson - Morgan Svensson
Hakan Johansson - Gunnar Sjokvist
Carl-Ake Hollander - Anders Johansson
Mikael Fahlander - Peter Huotila
Agneta Svahn - Mathias Svensson

Olle Morell - Per-Ake Pettersson

Pierre Carbonnier - Hakan Tjarnemo
Tommy Gullberg - Thomas Magnusson
Erik Franzén - Mats Hall

Lars-Goran Larsson - Thor Simonsen
Linus Jorner - Adam Winberg

Gun-Britt Rindstal - Mats Wang

Jarl Hallberg - Kjell Karlsson

Romuald Grudzinski - Kenneth Karlsson
Ola Stavas - Michael Lindhagen
Thomas Brehmer - Johan Gronkvist
Magnus Goransson - Andreas Persson
Joachim Boérgel - Tommi Ramstedt
Arne Eriksson - Johnny Petersson
Jerry EkI6f - Christer Swenson

Hans Andersson - Johan Eriksson
Mats Karlsson - Lars Ohlsson
Hans-Olof Hallén - Sven-Olov Flodqvist
Hans Brolin - Bjorn Westling

Krister Ekudd - Tommy Larsson

Mikael Skoog - Sven Andersson

Patrik Elofsson - H.O. Thulin

UIf Henriksson - Thomas Johnsson
Olof Bergstrom - Jan-Erik Thomasson
Bo Ericson - Lars Ericson

Jacob Westerberg - Jesper Zettergren
Mats Berggren - Johan Noberius

MID
1198 1161
4458 5900
2828 2878
15384 20955
3510 3511
5648 5771
80480 2822
79008 13691
14434 13960
8561 7520
13107 2798
87992 3542
6176 12984
16417 11389
12598 1605
8335 12180
261 48
7124 1076
23472 15175
1706 87082

766 11931
3910 1168
8076 6116
9278 449
6423 5957
17359 4857
4874 12173
10514 32229
20396 23539
1825 4828
5037 10066
5455 21350
83200 37167
245 1163
9577 3918
12565 8223
10248 82649
89485 4583
24710 3368
82648 20858
4136 4110
9245 7179
2171 18538
25150 6915
17074 7005
4243 18660
51648 4256
12502 6210
9981 3413
4501 85753
4049 127
11174 4863
6302 23716
8958 6177
12954 10488
20591 18441
13534 4317
626 11709
2811 9960
5638 5534
9047 3693
76 148
6849 30021
67 2950
7974 10100
1648 1858
46038 625
1134 17101
4133 8342
1625 3877
4050 51783
12242 10420
87220 1859
197 92896
18406 2795
9896 9027
7596 1666
1186 78593
11067 3675
28614 79375
3814 3718
1200 1304
2962 12536
88822 12830
5549 655

Klubb

Filbyter Bridge

BK Lavec

Upsala BS

Bjarnums BK

Karlstads BK

Solvesborgs BK

Upsala BS

Skara BS

Hedemora BS

Kungshamns BK

Upsala BS

Filbyter Bridge - BK Lyx
Sydjamten

BK S:t Erik - LudvikaBygdens BK
Veddige BS

Storsjobygdens BK

Folkare BK - Séaters BK
Orebridgen

BK Bjorken - Munkedals BS
Skoévde BA

Ryds BK - Karlshamns BK
Ljungskile BK

Malungs BK

BK Bridgehuset - Ystads BS
Ystads BS

MéInlycke BS - Salamandern/Wasa
BK Everfresh

Hallefors BK

BK S:t Erik

Alingsas BS

Skoévde BA

Munka Ljungby BS
Karlstads BK - BK S:t Erik
Borlange BK

Munkedals BS - Uddevalla BF
Sundsvallsbridgen
Uddevalla BF

Ystads BS - LUCK

Bollnds BK

Kristinehamns BK - BK Opalen
Jarnvégens BK - Kumla BS
Bréacke BK

Gnesta BK

Majstangens BK
Anderstorps BK

Veddige BS

Visby BS

Ruterklubben i Umea - BK Bjorken
Storsjobygdens BK

H66rs BK

BK S:t Erik

BK Lyx

LUCK

Storsjébygdens BK

Konga BK

Kristinehamns BK

BK Fyris

Grimslévs BK

BK Fyris

LUCK

BK S:t Erik - Nasby BS
Borlange BK

Uddevalla BF

Orebridgen

Overums BK

Skoévde BA

Malungs BK

BK S:t Erik - Blomstermala BK
Orebridgen

Skara BS

Lindesbergs BS
Anderstorps BK - Varnamo BK
Skoévde BA
LudvikaBygdens BK
Sigtuna BS

Malmo BK - BK Bridgehuset
Bords BA

Filbyter Bridge

Arvika BS

Skovde BA

Alnd BK

Filbyter Bridge

Gavle BK

Overums BK

BK Bridgehuset
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115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170

304
126
534
128
504
333
129
421
125
112
509
417
207
222
106
107
109
411
334
231
309
117
431
130
115
228
218
317
215
528
410
415
308
430
527
329
524
202
113
134
306
307
213
525
420
206
127
316
533
133
507
312
414
327
505
119
216
406
529
422
227
518
521
209
530
220
503
526
409
510
519
232
310
315
114
131
201
425
531
319
429
404
419
302
205

3662.4
3659.6
3640.8
3636.9
3625.1
3622.5
3615.9
3610.0
3605.4
3591.4
3590.7
3586.5
3584.0
3580.5
3571.9
3568.3
3568.1
3565.7
3551.5
3547.7
3544.2
3536.8
3515.2
3512.3
3507.8
3507.4
3501.3
3496.1
3489.9
3478.1
3478.0
3473.2
3464.5
3464.3
3461.3
3460.5
3455.0
3452.7
3437.8
3435.4
3424.8
3419.0
3407.9
3396.4
3392.5
3379.9
3373.4
3371.7
3360.3
3357.0
3356.5
3348.4
3346.5
3344.0
3336.8
3322.8
3308.2
3304.5
3300.7
3294.8
3282.9
3282.7
3248.8
3244.0
3234.5
3232.6
3217.5
3214.9
3201.5
3142.2
3131.1
3112.8
3111.2
3104.9
3095.7
3065.8
3064.8
2976.1
2973.6
2961.3
2950.4
2880.3
2839.3
2684.0
2415.0

49.55
49.51
49.25
49.20
49.04
49.01
48.92
48.84
48.77
48.58
48.58
48.52
48.49
48.44
48.32
48.27
48.27
48.24
48.05
47.99
47.95
47.85
47.55
4751
47.45
47.45
47.37
47.30
47.21
47.05
47.05
46.99
46.87
46.86
46.83
46.81
46.74
46.71
46.51
46.47
46.33
46.25
46.10
45.95
45.89
45.72
45.64
45.61
45.46
45.41
4541
45.30
45.27
45.24
45.14
44.95
44.75
44.70
44.65
44.57
44.41
44.41
43.95
43.89
43.76
43.73
43.53
43.49
43.31
42.51
42.36
42.11
42.09
42.00
41.88
41.48
41.46
40.26
40.23
40.06
39.91
38.97
38.41
36.31
32.67

Gun Karlsson - Royne Gustavsson
Dick Holmstrom - Pierre Thunstrém
Kristian R6nn Jensen - Roland Storck
Tommy Gunnarsson - Michael Lemborn
Else Holdt - Johan Millgvist

Bertil Larsson - Bertil Selinder

Per Carlson - Géran Hermanson

Jan Fransson - Lars-Goéran Ostlund
Ola Sarnkvist - UIf Sarnkvist

Jan Geiborg - Leif Norman

Christer Bech - Simon Bech
Hans-Olov Gustafsson - Ove Lundberg
Lena Johansson - Jan-Erik Asmo

Inge Corse - Bertil Tollbom

Olle Wademark - Jan Selberg

Sdren Westling - Martin Lundberg

Ake Kratz - Kjell Ohlund

Anna Roos - Per-Arne Karlsson

Sten Gustavsson - Kenth Sandéhn
Johan Johansson - Leif Lyngmo
Jorgen Andersson - Martin Johnsson
Leo Karttunen - Jorgen Pihl

Magnus Fjallstrém - Tommy Petersson
Markus Bengtsson - Lars-Anders Callenberg
Per-Erik Jansson - Lennart Persson
Lennart Bylund - Ted Olows

Bo Falk - Tomas Svensson

Maria Regnér Jonsson - Krister Persson
Leif Lysebring - Lars Wallmark

Erik Gulliksson - Kent Maltein

Siv Jacobsson - Nils Svensson

Mats Johansson - Rolf Westman

Tore Enbarr - Anders Sjodén

Lena Adolfsson - Lars Lundgvist
Kerstin Forsman - Hans Forsman

Jan Enarsson - Christer Larsson

Per Andersson - Villy Havasi

Gerd Axelsson - Bertil Sjolinder
Pontus Silow - Peter Carlsson

Gert Bengtsson - Lars-Goran Niklasson
Lars Nilsson - Douglas von Krusenstierna
Birgitta Lénberg - Gunnel Svensson
Arne Lindgvist - Rolf Staflund

Jan Gummerus - Kenneth Fredriksson
Anders Blomqyvist - Bjorn Nolin
Elisabeth Helsing - Jan-Olov Lundgvist
Niclas Johansson - Stefan Jonsson
Micael Fredriksson - Sonny Karlsson
Sven Danielsson - Jan-Ake Hakanson
Ben Hayes - Hans Mattsson

Hakan Svensson - Stefan Vestlund
Soren Karlsson - Hakan Nordstrom
Anne-Marie Héglund - Thomas Groth
Orjan Grytting - Jan Hjorth

Roland Andersson - Morgan Wiklander
Claes-Erik Andersson - Séren Axelsson
Johnny Karlsson - Lars Karlsson

Gerd Stylander - Goran Stylander
Linnea Edlund - Robert Larsson

Sven Barbus - Bernt Sigvardsson
Anders Landmark - Leif Lundberg
Mikael Blomqvist - Arne Klasén
Ann-Marie Josefsson - Dag Josefsson
Rolf Andersson - Bengt Jonsson

Bror Bjerner - Harald Sjéman

Leif Haegerstam - Jan-Olof Stenberg
Kerstin Ernby - Per-Olov Torngvist
Mattias Weiler - Tommy Westman
Fredrik Wickstrém - Kenneth Osterberg
Susanne Olausson - Micael Olausson
Katarina Billefjord Thorngren - Jim Thorngren
Rolf Back - Jorgen Lantz

Ulla Ridderstad - Lars Hamberg
Kenneth Gadd - Alf Térma

Stig Selldin - Géran Wreiber

Arne Larsson - Bjorn Rosén

Tin Budin - Stefan Budin

Goran Johansson - Christer Nilsson
Lennart Ekholm - Christer Astrém
Simon Ekenberg - Simon Hult

Ann Lidfors - Jerry Mahler

Ceve Eldh - Kurt Karlsson

Anette Svenningsson - Anders Nero
Helena Nyrén - Jan Nyrén

Berit Hildén - Kerstin Sandstrom

16026
17974
1585
1215
7232
3023
37800
2995
9415
8797
87173
50989
2970
2899
11074
26104
5328
1246
7659
85153
13345
17271
12924
1601
2978
8281
85975
8789
6908
15967
26780
2821
2996
6692
3446
39930
89205
6917
11594
11361
8636
7601
9211
9842
6656
84131
13697
1126
5598
1139
13174
98
12749
4158
1785
8192
24249
7655
15346
628
20271
581
51
1651
8915
6858
1862
20851
4700
83375
447
1612
3696
17389
13638
17229
11046
12807
38022
36107
12554
1579
9470
89540
81428

Filbyter Bridge

Arvidsjaurs BK - Boden-Séavast BS
Hjo BS
Salamandern/Wasa - Karlstads BK
Kullabygdens BK
Sandvikens BK

BK S:t Erik

Gavle BK

Akers BK

Gnesta BK

BK S:t Erik

BK Bjorken

Véargarda BS - BK Centrum
Marsta BK - Sigtuna BS
BK S:t Erik

BK Everfresh

Pited BS

BK S:t Erik

Falkopings BS

Motala Bridgeallians
Landskrona BK

Nora BK

Smedstadens BK

BK Albrekts

Géavle BK
Sundsvallsbridgen
Oskarshamns BK

BK Bjorken

Varnamo BK

Gavle BK

BK Albrekts

Upsala BS

Sandvikens BK
Valdemarsviks BK - Filbyter Bridge
Ornskoldsviks BA

Veddige BS - Asa/Frillesds BK
BK Albrekts

BK Tre Sang, Helsingborg
BK S:t Erik

LUCK

Norrkdpingsbridgen - Katrineholms BA
Boras BA

Vashybridgen
Storsjobygdens BK

Upsala BS

Borlange BK

Konga BK

Lilla Sallskapet

BK Axet

Upsala BS - BK Bridgehuset
Bollnds BK - Gavle BK
LudvikaBygdens BK

BK Hudik

Visby BS

Véargarda BS - Alingsas BS
Bredaryds BK

Sandvikens BK

Mariestads BS

BK Fyris - Upsala BS

IFK Karlskrona

Luled BK
Norrkdpingsbridgen
Folkare BK

Skovde BA
Salamandern/Wasa
Vaggeryds BK

Skovde BA

BK S:t Erik - BK ALERT
Hoo6rs BK - Hassleholms BK
Mariehamns BK
Sundsvallsbridgen

Boras BA

BK Opalen

Tjorns BK - Stenungsunds BK
Folkare BK

Skovde BA

Stanga BK

Laholms BK

ABB BK

Lilla Sallskapet
Adalslidens SK BS

Skovde BA

Vaggeryds BK

Bollnds BK

Alingsas BS
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25 4854 26 « Kn1063 27 « DKn10
Nord v 1087 Ost vK Syd vE1076
ov ¢ DKn953 Alla + 10876 Ingen + 1087
#Kn9 D984 & KDKn
4EK76 D3 « E98 & K7542 4K862 45
vEDKn4 vK63 v 932 v EKn108 vKDKn8 v942
¢+E102 #3876 ¢ EDKn54 +¢9 + KD + Kn932
85 #E10762 #Kn3 *E76 #1065 #E9842
4« Kn1092 «D 4 E9743
v 952 vD7654 v53
+ K4 ¢ K32 ¢ E654
#KD43 #K1052 73
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
225 201 3NO-1 «J 100 165.0 3.0(225 201 44 O-3 v4 300 168.0 0.0|412 414 34DS= ¢K 530 168.0
426 402 4v V-1 +Q 100 165.0 3.0(209 217 44 O-2 +Q 200 163.0 5.0|128 133 24D S= ¢K 470 165.0
428 433 3NV-1 +Q 100 165.0 3.0(234 213 44 O-2 &5 200 163.0 5.0(201 227 24DS= vK 470 165.0
504 524 3NV-1 ¢Q 100 165.0 3.0 (417 411 44 O-2 &2 200 163.0 5.0(109 119 3NN= &2 400 162.0
434 414 29 V+1 ¢Q -140 160.0 8.0 (426 402 44 O-2 #5 200 163.0 5.0(210 218 44DV -2 &K 300 159.0
102 124 2NV +1 +Q -150 156.0 12.0|103 123 44 O-1 «Q 100 110.0 58.0 (522 504 3vDV-2 #K 300 159.0
209 217 2NO+1 & -150 156.0 12.0|106 120 44 O-1 &Q 100 110.0 58.0(222 206 INN+2 v7 150 156.0 1
221 205 INO+2 & -150 156.0 12.0(112 114 44 O-1 #2 100 110.0 58.0|126 102 24 S+1 vK 140 135.0 3
103 123 3NV= ¢Q -600 119.0 49.0|116 110 44 O-1 &5 100 110.0 58.0 (130 131 24 S+1 vK 140 135.0 3
107 119 3NV = +Q -600 119.0 49.0|122 104 44 O-1 &5 100 110.0 58.0 (207 221 24 S+1 vK 140 135.0 3
108 118 3NO = & -600 119.0 49.0(127 132 44 O-1 #5 100 110.0 58.0(223 205 24 S+1 vK 140 135.0 3
121 105 3NV=  ¢Q -600 119.0 49.0|129 130 44 O-1 ¥3 100 110.0 58.0 (226 202 34 S= vK 140 135.0 3
122 104 BNO= & -600 119.0 49.0|133 126 44 O-1 ¢5 100 110.0 58.0 (230 231 24 S+1 vK 140 135.0 3
127 132 3NO= & -600 119.0 49.0(134 113 44 O-1 «Q 100 110.0 58.0(322 306 24 S+1 vK 140 135.0 3
128 131 3NO= ¢3 -600 119.0 49.0|202 224 44 O-1 v7 100 110.0 58.0(323 305 24 S+1 vK 140 135.0 3
129 130 3NV = +Q -600 119.0 49.0|203 223 44 O-1 ¥5 100 110.0 58.0(326 302 24 S+1 ¢K 140 135.0 3
134 113 3NO= & -600 119.0 49.0(206 220 44 O-1 #5 100 110.0 58.0(329 332 34 S= ¢K 140 135.0 3
211 215 3NV=  +Q -600 119.0 49.0|207 219 44 O-1 #3 100 110.0 58.0(334 314 24 S+1 vK 140 135.0 3
216 210 3NV= & -600 119.0 49.0|208 218 44 O-1 T 100 110.0 58.0 (407 419 34 S= vK 140 135.0 3
222 204 3NV= ¢Q -600 119.0 49.0(211 215 44 O-1 +3 100 110.0 58.0|408 418 24 S+1 vK 140 135.0 3
227 232 3NV=  +Q -600 119.0 49.0|212 214 44 O-1 &5 100 110.0 58.0|416 410 14 S+2 vK 140 135.0 3
309 317 3NV= +Q -600 119.0 49.0|221 205 44 O-1 &5 100 110.0 58.0 (427 432 24 S+1 vK 140 135.0 3
322 304 3NV= ¢Q -600 119.0 49.0(222 204 44 O-1 #2 100 110.0 58.0|503 523 34 S= vK 140 135.0 3
325 301 3NV=  ¢Q -600 119.0 49.0|228 231 44 O-1 «Q 100 110.0 58.0 508 518 24 S+1 vK 140 135.0 3
401 427 3NO= & -600 119.0 49.0|229 230 44 O-1 ¥4 100 110.0 58.0|516 510 24 S+1 vK 140 135.0 3
403 425 3NO= &) -600 119.0 49.0(233 226 44 O-1 «4 100 110.0 58.0|528 531 24 S+1 vK 140 135.0 3
407 421 3NO= & -600 119.0 49.0|306 320 44 O-1 ¥4 100 110.0 58.0 (534 513 34 S= vK 140 135.0 3
408 420 3NO= & -600 119.0 49.0|307 319 44 O-1 #5 100 110.0 58.0 (113 115 INN+1 #4 120 113.0 5
409 419 3NO= T -600 119.0 49.0(308 318 44 O-1 #5 100 110.0 58.0(434 413 INN+1 &2 120 113.0 5
410 418 3NV=  ¢Q -600 119.0 49.0|309 317 44 O-1 &5 100 110.0 58.0(103 125 24 S= vK 110 950 7
412 416 3NO= & -600 119.0 49.0|311 315 44 O-1 ¥4 100 110.0 58.0|108 120 24 S= vK 110 95.0 7
422 406 3NV=  ¢Q -600 119.0 49.0(321 305 44 O-1 &5 100 110.0 58.0|134 114 24 S= vK 110 95.0 7
501 527 3NV=  ¢5 -600 119.0 49.0|322 304 44 O-1 &5 100 110.0 58.0 (212 216 24 S= vK 110 950 7
503 525 3NO= & -600 119.0 49.0|329 330 44 O-1 «Q 100 110.0 58.0(213 215 24 S= vK 110 95.0 7
507 521 3NO= & -600 119.0 49.0(333 326 44 O-1 #5 100 110.0 58.0(217 211 24 S= vK 110 95.0 7
508 520 3NV = & -600 119.0 49.0|401 427 44 O-1 #2 100 110.0 58.0 (229 232 24 S= vK 110 950 7
509 519 3NO= & -600 119.0 49.0|403 425 44 O-1 ¥4 100 110.0 58.0|301 327 24 S= vK 110 95.0 7
512 516 3NV=  ¢Q -600 119.0 49.0 (407 421 44 O-1 &5 100 110.0 58.0(313 315 24 S= vK 110 95.0 7
522 506 3NV=  ¢Q -600 119.0 49.0|408 420 44 O-1 ¥3 100 110.0 58.0 (403 423 24 S= ¢K 110 95.0 7
528 533 3NO= &K -600 119.0 49.0|409 419 44 O-1 42 100 110.0 58.0 (411 415 24 S= vK 110 95.0 7
530 531 3NV= v8 -600 119.0 49.0 (412 416 44 O-1 #5 100 110.0 58.0|428 431 24 S= vK 110 95.0 7
534 514 3NO= & -600 119.0 49.0|423 405 44 O-1 «Q 100 110.0 58.0 (433 426 24 S= vK 110 950 7
413 415 4v V= ¢Q -620 83.0 85.0|428 433 44 O-1 ¥4 100 110.0 58.0|506 520 24 N= v2 110 95.0 7
423 405 44 O= ¢Q -620 83.0 85.0(434 414 44 O-1 «Q 100 110.0 58.0|521 505 24 S= vK 110 95.0 7
106 120 3NO +1 & -630 55.0 113.0|501 527 44 O-1 v5 100 110.0 58.0 (527 532 24 S= vQ 110 950 7
109 117 3NV +1 ¢Q -630 55.0 113.0|503 525 44 O-1 &5 100 110.0 58.0(110 118 INV-2 &K 100 730 9
111 115 3NV +1 ¢Q -630 55.0 113.0 (507 521 44 O-1 +2 100 110.0 58.0(228 233 3NV-2 «Q 100 73.0 9
112 114 3NV +1 ¢Q -630 55.0 113.0|509 519 44 O-1 &5 100 110.0 58.0(312 316 INV-2 &J 100 73.0 9
133 126 3NV +1 @7 -630 55.0 113.0|513 515 44 O-1 &Q 100 110.0 58.0 421 405 INV-2 &K 100 730 9
202 224 3NV +1 ¢Q -630 55.0 113.0 (517 511 44 O-1 &5 100 110.0 58.0|502 524 INO-2 &K 100 73.0 9
206 220 3NV +1 ¢Q -630 55.0 113.0|523 505 44 O-1 ¥4 100 110.0 58.0 (511 515 3#DO-1 aA 100 73.0 9
207 219 3NO+1 & -630 55.0 113.0|526 502 44 O-1 «Q 100 110.0 58.0|101 127 INV-1 &K 50 51.0
208 218 3NV +1 +¢5 -630 55.0 113.0 (528 533 44 O-1 &5 100 110.0 58.0|107 121 3&#V-1 4Q 50 51.0
212 214 3NV +1 3 -630 55.0 113.0|534 514 44 O-1 &5 100 110.0 58.0 (117 111 3& V-1 #K 50 51.0
228 231 3NV+1l ¢Q -630 55.0 113.0|108 118 34 O= v4 -140 55.0 113.0129 132 1v V-1 #K 50 51.0
229 230 3NV +1 ¢J -630 55.0 113.0 (125 101 24 O+1 2 -140 55.0 113.0|203 225 2v V-1 &K 50 51.0
233 226 3NV +1 +Q -630 55.0 113.0|316 310 34 O= v4 -140 55.0 113.0 (204 224 2v V-1 %K 50 51.0
303 323 3NV +1 3 -630 55.0 113.0|504 524 34 O= 4Q -140 55.0 113.0|304 324 34 V-1 4Q 50 51.0
306 320 3NV +1 3 -630 55.0 113.0 (508 520 24 O +1 %2 -140 55.0 113.0|307 321 34 0-1 v4 50 51.0
307 319 3NV+1 +Q -630 55.0 113.0|522 506 34 O= ¢33 -140 55.0 113.0 (328 333 INV-1 4Q 50 51.0
311 315 3NV +1 @7 -630 55.0 113.0325 301 34 O+1 5 -170  48.0 120.0|330 331 INV-1 4Q 50 51.0
312 314 3NO+1 T -630 55.0 113.0 (107 119 44 O= v4 -620 24.0 144.0|422 404 2v V-1 &K 50 51.0
316 310 3NV +1 +¢Q -630 55.0 113.0|109 117 44 O= 4Q -620 24.0 144.0 (509 517 3 V-1 4Q 50 51.0
321 305 3NV+1l ¢Q -630 55.0 113.0|111 115 44 O= +¢K -620 24.0 144.0|512 514 34 V-1 4Q 50 51.0
327 332 3NV +1 ¢3 -630 55.0 113.0121 105 44 O= v4 -620 24.0 144.0|525 501 2v V-1 «K 50 51.0
328 331 3NV+1 +¢Q -630 55.0 113.0|128 131 44 V= 4Q -620 24.0 144.0 (529 530 INV-1 «#K 50 51.0
334 313 3NV+1l ¢Q -630 55.0 113.0(216 210 44 O= v4 -620 24.0 144.0|533 526 3# V-1 4Q 50 51.0
404 424 3NV +1 ¢ -630 55.0 113.0 (227 232 44 O= v4 -620 24.0 144.0|208 220 34 S-1 +¢K -50 27.0
417 411 3NV +1 ¢ -630 55.0 113.0|302 324 44 O= 2 -620 24.0 144.0 (209 219 34 S-1 vK -50 27.0
523 505 3NV +1 +¢Q -630 55.0 113.0|303 323 44 O= v4 -620 24.0 144.0|303 325 34 S-1 vK -50 27.0
302 324 4y V+1 ¢Q -650 28.0 140.0 (312 314 44 O= v4 -620 24.0 144.0|308 320 34 S-1 vK -50 27.0
116 110 3BNO +2 4] -660 13.0 155.0|327 332 44 O= &5 -620 24.0 144.0(309 319 34 N-1 2 -50 27.0
125 101 3NO+2 & -660 13.0 155.0(328 331 44 O= v4 -620 24.0 144.0|310 318 34 S-1 vK -50 27.0
203 223 3NO+2 & -660 13.0 155.0 (334 313 44 O= v¥5 -620 24.0 144.0|317 311 34 S-1 vK -50 27.0
234 213 3NO+2 & -660 13.0 155.0|404 424 44 O= v6 -620 24.0 144.0 (429 430 34 S-1 vK -50 27.0
308 318 3NO+2 & -660 13.0 155.0|410 418 44 O= ¥5 -620 24.0 144.0|104 124 INV=  4Q -90 15.0
329 330 BNO+2 -660 13.0 155.0 (413 415 44 O= v4 -620 24.0 144.0|122 106 INV = v7 -90 15.0
333 326 3NO+2 & -660 13.0 155.0|422 406 44 O= v4 -620 24.0 144.0 (123 105 INV=  #K -90 15.0
429 432 3NO+2 & -660  13.0 155.0|429 432 44 O= ¥5 -620 24.0 144.0 1402 424 INV=  #K -90 15.0
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430 431 3NO+2 & -660 13.0 155.0|430 431 44 O= v4 -620 24.0 144.0|406 420 34 S-2 vK -100 8.0 160.0
510 518 BNO+2 & -660 13.0 155.0 (510 518 44 O= v4 -620 24.0 144.0|409 417 34 S-2 vK -100 8.0 160.0
513 515 3NO+2 & -660 13.0 155.0|512 516 44 O= ¢2 -620 24.0 144.0|507 519 34 S- vK -100 8.0 160.0
517 511 3NO+2 & -660 13.0 155.0|529 532 44 O= &5 -620 24.0 144.0|234 214 3« O= v5 -110 4.0 164.0
526 502 3NO+2 & -660 13.0 155.0|530 531 44 O= ¢3 -620 24.0 144.0 1425 401 2NV = v6 -120 2.0 166.0
529 532 3NO+2 & -660 13.0 155.0 (102 124 2vD S -3 4A -800 0.0 168.0|112 116 3v N-5 &5 -250 0.0 168.0
28 & DKn85 29 «82 30 a2
Vast v74 Nord v EK108 Ost v 653
NS + D954 Alla + Kn109642 Ingen + KD10
»K76 &5 #KKn9852
46 & EK73 a3 & K97654 4KKn983 &7
vD10986 v EKKnNn32 vD9753 v4 v 10742 v KD98
¢+ E82 + Knl0 ¢ E875 ¢KD ¢ EKn54  ¢732
&ED94 &Kn3 &#E102 #KD96 »- #E10643
410942 « EDKn10 « ED10654
v5 v Kn62 v EKn
¢ K763 +3 + 986
#10852 #Kn8743 D7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
126 102 6y V-1 +¢5 50 161.0 7.0|110 120 3NDV -4 48 1100 167.0 1.0(113 117 4DV -5 42 1100 168.0 0.0
201 227 6y V-1 ¢4 50 161.0 7.0(211 219 34D O -4 3 1100 167.0 1.0|311 319 3«DN= vK 470 166.0 2.0
217 211 6y O-1 +6 50 161.0 7.01428 404 3NDV-3 ¢J 800 163.0 5.0|514 518 34 0-4 ¢6 200 164.0 4.0
228 233 7v V-1 «Q 50 161.0 7.0|530 502 34D O-3 #4 800 163.0 5.0|129 101 2#DN= ¥¢K 180 162.0 6.0
301 327 6y V-1 +¢5 50 161.0 7.0(105 125 3vyDS= &5 730 160.0 8.0(124 106 24 S= v4 110 159.0 9.0
507 519 6y V-1 +4 50 161.0 7.0 1405 427 3¢DN= v4 670 158.0 10.0|428 404 24 S= v2 110 159.0 9.0
516 510 6y V-1 ¢4 50 161.0 7.01123 107 24D O -2 #7 500 154.0 14.0|506 526 4v O-2 &Q 100 156.0 12.0
528 531 6y V-1 4Q 50 161.0 7.0(311 319 24D O-2 3 500 154.0 14.0|424 408 2& S = v4 90 154.0 14.0
130 131 4y V+1 45 -450 148.0 20.0|506 526 3NV-5 ¢J 500 154.0 14.0|134 115 4v O-1 £Q 50 149.0 19.0
213 215 4y O+1 +4 -450 148.0 20.0|131 132 44 O-3 +3 300 147.0 21.0|405 427 3v O-1 +¢6 50 149.0 19.0
323 305 4v V+1 +5 -450 148.0 20.0 430 402 3NV-3 +J 300 147.0 21.0|410 422 3v O-1 &A 50 149.0 19.0
406 420 4y V+1 @7 -450 148.0 20.0|511 521 3NV-3 +J 300 147.0 21.0|525 507 3v O-1 &A 50 149.0 19.0
411 415 5v V= +5 -450 148.0 20.0|515 517 3NV-3 ¢J 300 147.0 21.0|202 228 24 S-1 v4 -50 137.0 31.0
101 127 4v V+2 «Q -480 112.0 56.0|104 126 24 O-2 #3 200 124.0 44.0(224 206 24 S-1 &2 -50 137.0 31.0
107 121 4y V+2 &8 -480 112.0 56.0|111 119 24 O-2 #4 200 124.0 44.0|302 328 24 S-1 v4 -50 137.0 31.0
108 120 4y V+2 «Q -480 112.0 56.0|118 112 34 O-2 ¢3 200 124.0 44.0|323 307 3« N-1 ¢K -50 137.0 31.0
122 106 44 V+2 4Q -480 112.0 56.0|129 101 24 O-2 &7 200 124.0 44.0|411 421 3&#N-1 vK -50 137.0 31.0
128 133 4vy O+2 w7 -480 112.0 56.0(|204 226 3NO-2 &4 200 124.0 44.0|431 401 24 S-1 ¥2 -50 137.0 31.0
134 114 4y V+2 9] -480 112.0 56.0|213 217 2NV-2 ¢J 200 124.0 44.0|505 527 24 S-1 +A -50 137.0 31.0
204 224 4y V +2 &8 -480 112.0 56.0|224 206 2NO-2 %2 200 124.0 44.0|515 517 3&# N-1 vK -50 137.0 31.0
207 221 4y V+2 &Q -480 112.0 56.0|229 201 34 O-2 ¢3 200 124.0 44.0|102 128 24 S-2 v4 -100 85.0 83.0
209 219 4v V+2 «Q -480 112.0 56.0|302 328 2# O-2 ¢3 200 124.0 44.0|109 121 3NN-2 &3 -100 85.0 83.0
226 202 4y V+2 4] -480 112.0 56.0|305 325 24 O-2 #3 200 124.0 44.0|110 120 24 S-2 +A -100 85.0 83.0
229 232 4y V+2 & -480 112.0 56.0|310 320 24 O-2 ¢3 200 124.0 44.0|111 119 24 S-2 v4 -100 85.0 83.0
230 231 4y V+2 w7 -480 112.0 56.0 (313 317 34DO-1 v2 200 1240 44.0(114 116 24 S-2 v4 -100  85.0 83.0
234 214 5y V+1 w7 -480 112.0 56.0(334 315 2NV-2 +J 200 1240 44.0(118 112 24D S-1 v7 -100 85.0 83.0
304 324 4y V+2 w7 -480 112.0 56.0 410 422 2NV-2 +J 200 124.0 44.0|127 103 24 S-2 v4 -100 85.0 83.0
322 306 4y V+2 v4 -480 112.0 56.0|412 420 2v V-2 ¢J 200 1240 44.0(130 133 24 S-2 v4 -100  85.0 83.0
326 302 4y V+2 & -480 112.0 56.0 (424 408 24D O-1 v2 200 1240 44.0(131 132 24 S-2 v2 -100 85.0 83.0
334 314 4y V+2 97 -480 112.0 56.0|514 518 3NV-2 42 200 124.0 44.0|204 226 24 S-2 w7 -100 85.0 83.0
402 424 4v V +2 &5 -480 112.0 56.0|532 533 24DV-1 #5 200 124.0 44.0)|205 225 24 S-2 v4 -100  85.0 83.0
408 418 4y V+2 4Q -480 112.0 56.0|534 516 24D O-1 v6 200 124.0 44.0(208 222 2NN-2 &4 -100 85.0 83.0
416 410 4y V+2 «Q -480 112.0 56.0|234 215 3¢ N= ¢K 110 104.0 64.0|209 221 24 S-2 v4 -100 85.0 83.0
421 405 4v V+2 &Q -480 112.0 56.0|102 128 24 O-1 ¢6 100 75.0 93.0(210 220 24 S-2 ¢4 -100 85.0 83.0
425 401 4v V42 ] -480 112.0 56.0|109 121 24 O-1 ¢3 100 75.0 93.0(211 219 3NS-2 v4 -100 85.0 83.0
427 432 4y V+2 &«Q -480 112.0 56.0|113 117 24 O-1 ¢3 100 75.0 93.0(213 217 24 S-2 v4 -100 85.0 83.0
428 431 4v V+2 &Q -480 112.0 56.0|124 106 24 O-1 #3 100 75.0 93.0(214 216 24 S-2 ¥5 -100  85.0 83.0
433 426 4vy V+2 97 -480 112.0 56.0|127 103 24 O-1 &3 100 75.0 93.0(223 207 24 S-2 v4 -100 85.0 83.0
506 520 4v V+2 &Q -480 112.0 56.0|130 133 2NV-1 ¢J 100 75.0 93.0(227 203 24 S-2 ¥2 -100 85.0 83.0
509 517 4y V+2 «Q -480 112.0 56.0|205 225 34 O-1 ¢3 100 75.0 93.0(229 201 24D N-1 &7 -100 85.0 83.0
525 501 4v V+2 &Q -480 112.0 56.0(210 220 24 O-1 #3 100 75.0 93.0(230 233 24 S-2 v4 -100 85.0 83.0
529 530 4v V+2 38 -480 112.0 56.0(214 216 2NV-1 48 100 75.0 93.0(231 232 24 S-2 v4 -100 85.0 83.0
533 526 4y V+2 «Q -480 112.0 56.0|218 212 24 V-1 #3 100 75.0 93.0(234 215 24 S-2 v4 -100  85.0 83.0
534 513 4y V+2 v4 -480 112.0 56.0|227 203 24 O-1 #3 100 75.0 93.0(304 326 34D N-1 vK -100 85.0 83.0
512 514 4y V+3 &Q -510 80.0 88.0|231 232 24 O-1 #3 100 75.0 93.0(308 322 24 S-2 v4 -100 85.0 83.0
103 125 6v V= &Q -980 40.0 128.0|304 326 24 O-1 #3 100 75.0 93.0(309 321 24 S-2 ¢3 -100  85.0 83.0
104 124 6v V= 4Q -980 40.0 128.0|308 322 24 O-1 v2 100 75.0 93.0(313 317 34D N-1 #3 -100 85.0 83.0
109 119 6v V= v7 -980 40.0 128.0|314 316 24 O-1 #3 100 75.0 93.0(314 316 24 S-2 T -100 85.0 83.0
110 118 6v V= v7 -980 40.0 128.0|327 303 34 O-1 ¢3 100 75.0 93.0(318 312 24 S-2 v7 -100  85.0 83.0
112 116 6v V= 4Q -980 40.0 128.0|329 301 24 O-1 #4 100 75.0 93.0(330 333 3NS-2 v4 -100 85.0 83.0
113 115 6y V= v4 -980 40.0 128.0|330 333 24 O-1 #3 100 75.0 93.0(334 315 24 S-2 ¥3 -100 85.0 83.0
117 111 6y V= LY:] -980 40.0 128.0|406 426 24 O-1 ¢3 100 75.0 93.0(403 429 24 S-2 v4 -100  85.0 83.0
123 105 6v V= v7 -980 40.0 128.0|409 423 24 O-1 ¢3 100 75.0 93.0|414 418 3&# N-2 vK -100 85.0 83.0
129 132 6y V= &Q -980 40.0 128.0|411 421 24 O-1 ¢3 100 75.0 93.0 (415 417 24 S-2 ¥3 -100 85.0 83.0
203 225 6y V= *4 -980 40.0 128.0|414 418 24 O-1 48 100 75.0 93.0(430 402 24 S-2 v4 -100  85.0 83.0
208 220 6v V= +3 -980 40.0 128.0|415 417 34 O-1 v2 100 75.0 93.0(432 433 24 S-2 v4 -100 85.0 83.0
210 218 6y V= v4 -980 40.0 128.0 {432 433 24 O-1 &3 100 75.0 93.0(434 416 24 S-2 v4 -100 85.0 83.0
212 216 6v V= &6 -980 40.0 128.0|503 529 3NV-1 ¢J 100 75.0 93.0(509 523 24 S-2 &2 -100  85.0 83.0
223 205 6v V= 48 -980 40.0 128.0|512 520 24 O-1 ¢3 100 75.0 93.0(511 521 24 S-2 v4 -100 85.0 83.0
303 325 6y V= &Q -980 40.0 128.0|519 513 24 O-1 #3 100 75.0 93.0(512 520 24 S-2 ¥2 -100 85.0 83.0
307 321 6y V= &Q -980 40.0 128.0 524 508 24 O-1 &2 100 75.0 93.0(528 504 24 S-2 45 -100 85.0 83.0
308 320 6v V= 4Q -980 40.0 128.0(323 307 3¢ N-1 v4 -100  46.0 122.0|531 501 24 S-2 ¢3 -100 85.0 83.0
309 319 6v V= v7 -980 40.0 128.0|114 116 24 O= 3 -110 36.0 132.0|532 533 24 S-2 v4 -100 85.0 83.0
310 318 6v V= &Q -980 40.0 128.0|202 228 24 O= 43 -110 36.0 132.0|534 516 24DS-1 v2 -100 85.0 83.0
312 316 6v V= v4 -980 40.0 128.0 (208 222 24 O= ¢3 -110 36.0 132.0|108 122 34 S-3 v4 -150 38.0 130.0
313 315 6y V= &Q -980 40.0 128.0|419 413 24 V= *2 -110 36.0 132.0(123 107 34 S-3 v4 -150 38.0 130.0
317 311 6y V= v7 -980 40.0 128.0|425 407 24 O= 3 -110  36.0 132.0(329 301 3NN-3 ¢¥K -150 38.0 130.0
328 333 6y V= 4Q -980 40.0 128.0|505 527 24 O= ¢3 -110  36.0 132.0 {406 426 44 S-4 v4 -200  34.0 134.0
329 332 6y V= v7 -980 40.0 128.0|510 522 24 O= 3 -110  36.0 132.0 104 126 24D S-2 v7 -300 20.0 148.0
330 331 6y V= v7 -980 40.0 128.0|528 504 24 O= 43 -110  36.0 132.0|105 125 24D S-2 v4 -300  20.0 148.0
403 423 6y V= v4 -980 40.0 128.0|531 501 24 O= ¢3 -110 36.0 132.0 (218 212 24D S-2 v4 -300 20.0 148.0
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407 419 6y V= v7 -980 40.0 128.0|331 332 24 O+1 &A -140 26.0 142.0|310 320 24D S-2 v4 -300 20.0 148.0
409 417 6y V= 4] -980 40.0 128.0|108 122 3vDS-1 43 -200  16.0 152.0|327 303 24D S-2 v4 -300 20.0 148.0
412 414 6y V= v7 -980 40.0 128.0|209 221 3¢ N-2 «K -200  16.0 152.0|331 332 24DS-2 v4 -300 20.0 148.0
422 404 6y V= 4Q -980 40.0 128.0 (223 207 3¢DN-1 v4 -200 16.0 152.0|409 423 24D S-2 ¥5 -300 20.0 148.0
429 430 6y V= v4 -980 40.0 128.0 (230 233 3vyDS-1 43 -200  16.0 152.0|412 420 24D S-2 v4 -300 20.0 148.0
434 413 6y V= 48 -980 40.0 128.0|318 312 2¢vDN-1 ¢Q -200 16.0 152.0 ({419 413 24DS-2 v4 -300 20.0 148.0
502 524 6y V= v4 -980 40.0 128.0|403 429 3¢DN-1 v4 -200  16.0 152.0 |425 407 24DS-2 v7 -300 20.0 148.0
503 523 6y V= 4Q -980 40.0 128.0 (431 401 3¢DN-1 &K -200  16.0 152.0|503 529 24D S-2 v5 -300 20.0 148.0
508 518 64 V= 4Q -980 40.0 128.0|434 416 3¢DN-1 K -200 16.0 152.0|510 522 34DS-2 v4 -300 20.0 148.0
511 515 6y V= 4Q -980 40.0 128.0|525 507 3¢ N-2 v6 -200  16.0 152.0|519 513 24D S-2 v4 -300 20.0 148.0
521 505 6y O= +v4 -980 40.0 128.0|134 115 3¢DN-2 #K -500 5.0 163.0|305 325 44D N-3 &7 -500 4.0 164.0
522 504 6y V= 4Q -980 40.0 128.0|509 523 3¢DN-2 v4 -500 5.0 163.0 {324 306 SNDN-3 &7 -500 4.0 164.0
527 532 6y V= v7 -980 40.0 128.0|309 321 24DO= 3 -670 1.0 167.0 530 502 34DS-3 vT -500 4.0 164.0
222 206 6y V+1 &3 -1010 0.0 168.0|324 306 24DO= ¢2 -670 1.0 167.0 (524 508 3vyDV= 42 -530 0.0 168.0
31 496543 32 « D87 33 4 Kn
Syd v D82 Vast v 1072 Nord v DKn10874
NS +3 oV + EK1083 Ingen + EK103
#10954 &D2 D9
4 EK1072 48 & K65 « E1094 2109542 & EK63
vKKn954 vE107 vE9864 vD5 vEK953 v2
+E8 ¢+ D1042 +64 + D975 *7 + 8654
*2 #EDKN76 #1065 #K74 #105 #E763
4« DKn 4« Kn32 « D87
v 63 v KKn3 v6
¢ KKn9765 ¢ Kn2 ¢ DKn92
K83 #EKn983 #KKn842
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng Par Kontr Ut Res Poang
210 222 6y V-3 3 150 168.0 0.0(231 201 2vDV-2 «Q 500 168.0 0.0|104 130 3yDN= v4 530 168.0 0.0
134 116 6v V-2 ¢3 100 163.0 5.0(|106 126 3NS= ¥4 400 165.0 3.0(232 202 2vDN= «A 470 163.0 5.0
203 229 6v V-2 +3 100 163.0 5.0(409 421 3NN= ¢3 400 165.0 3.0|416 420 2¢vDN= #A 470 163.0 5.0
508 522 6v V-2 ¢3 100 163.0 5.0(309 323 2v V-3 «Q 300 160.0 8.0|512 524 2vyDN= v2 470 163.0 5.0
523 507 6v V-2 ¢3 100 163.0 5.0(328 304 2v V-3 #Q 300 160.0 8.0|527 509 2vyDN= 4A 470 163.0 5.0
119 113 6y V-1 ¢3 50 1440 24.0|530 533 24 O-3 #A 300 160.0 8.0|413 423 4¢ N= #A 130 158.0 10.0
132 133 6y V-1 3 50 1440 24.0|330 302 INS+4 v4 210 154.0 14.0|111 123 3¢ N= «A 110 149.0 19.0
214 218 44 V-1 ¢3 50 1440 24.0|424 406 INS+4 v6 210 154.0 14.0|133 101 2v N= «A 110 149.0 19.0
234 216 6y V-1 3 50 144.0 24.0|511 519 2NN+3 44 210 154.0 14.0|233 201 2v N= «A 110 149.0 19.0
306 326 6vY V-1 &T 50 1440 24.0(|234 216 2v V-2 ¢A 200 148.0 20.0(326 308 2vy N= &A 110 149.0 19.0
325 307 5v V-1 3 50 144.0 24.0(319 313 INV-2 ¢3 200 148.0 20.0 (401 402 2v N= 4A 110 149.0 19.0
328 304 4y V-1 ¢3 50 1440 24.0(331 301 2v V-2 ¢A 200 148.0 20.0|405 431 3¢ N= ¢5 110 149.0 19.0
334 316 6y V-1 ¢3 50 1440 24.0|324 308 INS+3 v6 180 144.0 24.0|417 419 2v N= &A 110 149.0 19.0
402 428 64 O-1 w7 50 1440 24.0|110 122 INS+2 ¥4 150 131.0 37.0|516 520 2v¥ N= «A 110 149.0 19.0
409 421 64 V-1 3 50 1440 24.0|124 108 2NS+1 ¥4 150 131.0 37.0|206 228 44 V-2 vQ 100 133.0 35.0
410 420 6v V-1 3 50 1440 24.0|203 229 INS+2 v4 150 131.0 37.0|312 322 54DV -1 ¢K 100 133.0 35.0
424 406 6y V-1 3 50 1440 24.0(|211 221 INN+2 ¢7 150 131.0 37.0|320 314 44DV-1 vQ 100 133.0 35.0
504 526 6v V-1 ¢3 50 144.0 24.0|225 207 INS+2 v4 150 131.0 37.0|414 422 44DV -1 ¢A 100 133.0 35.0
505 525 54 O-1 +¢3 50 1440 24.0|332 333 INS+2 ¥4 150 131.0 37.0|426 410 44 V-2 ¢A 100 133.0 35.0
511 519 6y V-1 ¢3 50 1440 24.0|404 426 2NS+1 v6 150 131.0 37.0|427 409 44DV-1 ¢A 100 133.0 35.0
128 104 3NO= +v3 -400 126.0 42.0|405 425 INS+2 v6 150 131.0 37.0|514 522 44 V-2 vQ 100 133.0 35.0
130 102 3NO= ¢7 -400 126.0 42.0(413 417 INS+2 v6 150 131.0 37.0|521 515 44 V-2 &Q 100 133.0 35.0
303 329 3NO= v6 -400 126.0 42.0(414 416 INS+2 ¢8 150 131.0 37.0|106 128 44 V-1 +vQ 50 114.0 54.0
105 127 4v V= 3 -420 117.0 51.0(508 522 INS+2 ¥4 150 131.0 37.0 (113 121 44 V-1 +A 50 114.0 54.0
124 108 4v V= 3 -420 117.0 51.0|529 501 INS+2 v6 150 131.0 37.0|132 102 44 O-1 v5 50 114.0 54.0
311 321 4v V= ¢3 -420 117.0 51.0|111 121 INS+1 ¥4 120 108.0 60.0 204 230 44 V-1 +A 50 114.0 54.0
405 425 4v V= 3 -420 117.0 51.0|115 117 INN+1 7 120 108.0 60.0 (207 227 44 V-1 +¢A 50 114.0 54.0
430 433 4v O= v3 -420 117.0 51.0|205 227 2NN= ¢7 120 108.0 60.0 220 214 44 O-1 +A 50 114.0 54.0
527 503 4y V= ¢3 -420 117.0 51.0|212 220 INN+1 &2 120 108.0 60.0 (234 217 34 V-1 +vQ 50 114.0 54.0
125 107 3ANO+1 v6 -430 102.0 66.0|224 208 INN+1 ¢J 120 108.0 60.0 (306 328 34 V-1 vQ 50 114.0 54.0
206 226 BNO+1 ¢9 -430 102.0 66.0|334 316 2NN= 42 120 108.0 60.0 310 324 44 V-1 +A 50 114.0 54.0
225 207 3NO+1 4Q  -430 102.0 66.0(418 412 INS+1 ¥4 120 108.0 60.0 532 504 44 V-1 +A 50 114.0 54.0
228 204 3NO+1 «Q -430 102.0 66.0(423 407 INS+1 v6 120 108.0 60.0 (533 503 44 V-1 +¢A 50 114.0 54.0
231 201 3NO+1 8 -430 102.0 66.0|429 401 2NN= T 120 108.0 60.0 (134 117 2v N-1 5 -50 95.0 73.0
330 302 3NO+1 45 -430 102.0 66.0|504 526 2NN= &4 120 108.0 60.0 (225 209 2v N-1 &A -50 95.0 73.0
411 419 3NO+1 5 -430 102.0 66.0|514 516 INN+1 T 120 108.0 60.0 (229 205 2v N-1 &A -50 95.0 73.0
414 416 3NO+1 «Q  -430 102.0 66.0 (109 123 2¢ N+1 &4 110 90.0 78.0(313 321 4¢ N-1 &A -50 95.0 73.0
509 521 3NO+1 +¢6 -430 102.0 66.0(210 222 3#S= ¢5 110 90.0 78.0(332 302 3¢ N-1 &A -50 95.0 73.0
103 129 4y V+1 ¢3 -450 72.0 96.0(232 233 3#S= +6 110 90.0 78.0|430 406 3v N-1 4A -50 95.0 73.0
110 122 4y V+1 ¢3 -450 72.0 96.0|325 307 3#S= &5 110 90.0 78.0|501 502 2v¥ N-1 &K -50 95.0 73.0
111 121 4y V+1 ¢3 -450 72.0 96.0|402 428 3#S= ¢6 110 90.0 78.0|508 528 2v N-1 &K -50 95.0 73.0
112 120 4v V+1 3 -450 72.0 96.0|411 419 3¢ N= &A 110 90.0 78.0|226 208 4y N-2 &K -100 77.0 91.0
115 117 4y V+1 ¢3 -450 72.0 96.0(513 517 2¢ N+1 #4 110 90.0 78.0|304 330 3vy N-2 4A -100  77.0 91.0
209 223 4y V+1 3 -450 72.0 96.0|214 218 INV-1 48 100 80.0 88.0(307 327 2v N-2 &K -100 77.0 91.0
305 327 4y V+1 3 -450 72.0 96.0 (427 403 14 O-1 +J 100 80.0 88.0(315 319 5¢DN-1 4A -100 77.0 91.0
315 317 44 V+1 43 -450 72.0 96.0|534 515 24 O-1 ¢J 100 80.0 88.0(325 309 3vyDN-1 4A -100  77.0 91.0
319 313 4y V+1 ¢3 -450 72.0 96.0|103 129 INS= ¥6 90 66.0 102.0 |407 429 3v N-2 4A -100 77.0 91.0
331 301 4y V+1 3 -450 72.0 96.0|105 127 INS= v4 90 66.0 102.0 (421 415 3v N-2 &A -100 77.0 91.0
332 333 4y V+1 ¢3 -450 72.0 96.0|114 118 2¢ N= vQ 90 66.0 102.0 |432 404 3v N-2 &A -100  77.0 91.0
408 422 4v V+1 3 -450 72.0 96.0|119 113 INS= v4 90 66.0 102.0 (511 525 5¢ N-2 ¢4 -100 77.0 91.0
423 407 4y V+1 3 -450 72.0 96.0|132 133 INS= v4 90 66.0 102.0|534 518 4vyDN-1 4A -100 77.0 91.0
427 403 4v V+1 3 -450 72.0 96.0|134 116 2¢ N= 2 90 66.0 102.0 (120 114 24 V= ¢Q -110 62.0 106.0
431 432 4v V+1 3 -450 72.0 96.0|228 204 INS= ¥6 90 66.0 102.0 (129 105 24 V= ¢A -110 62.0 106.0
510 520 4y V+1 +¢2 -450 72.0 96.0(310 322 INN= 4 90 66.0 102.0|212 222 24 V= vQ -110 62.0 106.0
513 517 4y V+1 3 -450 72.0 96.0(312 320 2¢ N= vQ 90 66.0 102.0 (331 303 24 V= ¢Q -110 62.0 106.
514 516 4y V+1 3 -450 72.0 96.0|408 422 2¢ N= vQ 90 66.0 102.0|526 510 24 V= ¢Q -110 62.0 106.0
529 501 4y V+1 3 -450 72.0 96.0|434 415 INS= +v8 90 66.0 102.0 (110 124 34 O= vQ -140 40.0 128.0
530 533 4y V+1 43 -450 72.0 96.0|125 107 Pass 42.0 126.0 (115 119 34 O= v¥6 -140  40.0 128.0
534 515 4y O+1 46 -450 72.0 96.0|128 104 Pass 42.0 126.0 (116 118 34 V= ¢A -140  40.0 128.0
106 126 3NO+2 «Q  -460 40.0 128.0 (130 102 Pass 42.0 126.0 125 109 34 V= vQ -140 40.0 128.0
114 118 3NO+2 v6 -460 40.0 128.0|131 101 Pass 42.0 126.0 (131 103 24 V+1 +¢K -140  40.0 128.0
219 213 3NO+2 4Q -460 40.0 128.0 (219 213 Pass 42.0 126.0 (215 219 24 V+1 +A -140  40.0 128.0
224 208 3NO+2 &2 -460  40.0 128.0|303 329 Pass 42.0 126.0 (216 218 34 O= v6 -140  40.0 128.0
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230 202 3NO+2 +4 -460  40.0 128.0 |314 318 Pass 42.0 126.0 311 323 34 V= ¢ A -140  40.0 128.0
309 323 BNO+2 ¢7 -460  40.0 128.0 |502 528 Pass 42.0 126.0 (333 301 3¢ O= vQ -140  40.0 128.0
310 322 3NO+2 45 -460  40.0 128.0 |505 525 Pass 42.0 126.0 (412 424 34 V= &Q -140  40.0 128.0
324 308 3NO+2 4Q -460  40.0 128.0 |523 507 Pass 42.0 126.0 {433 403 34 V= vQ -140  40.0 128.0
404 426 3NO+2 7 -460  40.0 128.0 |524 506 Pass 42.0 126.0 434 418 34 V= vQ -140 40.0 128.0
413 417 3NO+2 v6 -460  40.0 128.0 |527 503 Pass 42.0 126.0 (505 531 24 V+1 <A -140 40.0 128.0
531 532 3NO+2 9 -460  40.0 128.0 |531 532 Pass 42.0 126.0 |507 529 3e& V= vQ -140  40.0 128.0
205 227 4v V+2 +3 -480 21.0 147.0|209 223 3NN-1 v2 -50 20.0 148.0|513 523 34 V= *A -140 40.0 128.0
212 220 4v V+2 +3 -480 21.0 147.0(215 217 3#S-1 +¢6 -50 20.0 148.0 (517 519 34 V= ¢A -140  40.0 128.0
312 320 4y V+2 3 -480 21.0 147.0|230 202 INS-1 v2 -50 20.0 148.0|530 506 3« V= ¢+ K -140  40.0 128.0
314 318 4v V+2 ¢3 -480 21.0 147.0|305 327 2NN-1 9 -50 20.0 148.0 (210 224 3v N-3 &A -150 22.0 146.0
429 401 4v V+2 ¢3 -480 21.0 147.0|306 326 3# S-1 &5 -50 20.0 148.0|408 428 34 O+1 ¥6 -170  20.0 148.0
434 415 4v V+2 43 -480 21.0 147.0 430 433 2¢ N-1 &4 -50 20.0 148.0 (107 127 2vyDN-2 &A -300 18.0 150.0
518 512 4v V+2 ¢3 -480 21.0 147.0|431 432 2NS-1 v4 -50 20.0 148.0 ({211 223 44 O= v6 -420  15.0 153.0
524 506 4y V+2 ¢3 -480 21.0 147.0|510 520 2NS-1 v6 -50 20.0 148.0|334 317 44 O= ¥6 -420  15.0 153.0
109 123 3NO+3 ¢7 -490 8.0 160.0 (518 512 24 N-1 7 -50 20.0 148.0|316 318 44 V+1 ¢Q -450 12.0 156.0
211 221 3NO+3 45 -490 8.0 160.0 (206 226 1INV = *A -90 10.0 158.0|112 122 3vyDN-3 4A -500 8.0 160.0
215 217 3NO+3 ¢7 -490 8.0 160.0 (311 321 3NS-2 &5 -100 5.0 163.0 213 221 4vyDN-3 &A -500 8.0 160.0
232 233 3NO+3 +¢6 -490 8.0 160.0 (315 317 3NN-2 a2 -100 5.0 163.0 (411 425 3vyDN-3 &K -500 8.0 160.0
502 528 3NO+3 ¢4 -490 8.0 160.0 (410 420 2N S-2 &5 -100 5.0 163.0 (231 203 24DV +1 #Q -570 4.0 164.0
418 412 6v V= +3 -980 2.0 166.0 [509 521 2N S-2 v¥6 -100 5.0 163.0 (329 305 44DV= ¢K -590 2.0 166.0
131 101 2¢DS-4 A -1100 0.0 168.0 (112 120 2N S-3 v4 -150 0.0 168.0 (126 108 4vyDN-4 & A -800 0.0 168.0
34 «E10 35 #1085 36 « E10532
Ost v EKn9853 Syd v76 Vast vK5
NS +9 ov ¢+ E6 Alla ¢ 52
&#KD75 976532 #Kn1052
486542 &Kn 4 KD9632 #E4 a7 « D96
v4 v K106 v53 v 1098 vE9 vD10764
¢ K8642 ¢ EKn75 ¢ Kn52 + KD9874 ¢ KD108743 496
&Kn3 #109642 &KKn &84 964 &EKS8
& KD973 & Kn7 « KKn84
vD72 v EKDKn42 v Kn832
+ D103 + 103 ¢ EKn
&E8 &ED10 D73
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
229 205 3NN+3 T 690 167.0 1.0 |507 527 44DV-2 ¢A 500 168.0 0.0|513 521 44 N= #A 620 168.0 0.0
426 410 3NN+3 &4 690 167.0 1.0116 120 4v S= oK 420 160.0 8.0|516 518 3NO-4 &3 400 166.0 2.0
112 122 4v N+2 &T 680 155.0 13.0|205 231 4v S= oK 420 160.0 8.01208 228 3NO-3 44 300 163.0 5.0
132 102 5y N+1 &5 680 155.0 13.0|214 222 4v S= oK 420 160.0 8.01230 206 3NO-3 «4 300 163.0 5.0
134 117 4v N+2 &6 680 155.0 13.0|216 220 4v S= oK 420 160.0 8.01233 203 3NO-2 48 200 159.0 9.0
225 209 4y N+2 &2 680 155.0 13.0|308 328 4v S= oK 420 160.0 8.0|311 325 3NO-2 &4 200 159.0 9.0
231 203 4vy N+2 «J 680 155.0 13.0|321 315 4v S= oK 420 160.0 8.0(112 124 34 N= +9 140 143.0 25.0
234 217 4y N+2 &T 680 155.0 13.0|515 519 4v S= oK 420 160.0 8.0|117 119 24 N+1 9 140 143.0 25.0
311 323 4vy N+2 «J 680 155.0 13.0|532 502 3v S+3 &A 230 152.0 16.0|127 109 34 N= &A 140 143.0 25.0
331 303 4vy N+2 &6 680 155.0 13.0|217 219 3v S+1 &K 170 145.0 23.0|130 106 34 N= ¢+9 140 143.0 25.0
421 415 5vy N+1 «J 680 155.0 13.0|230 206 3v S+1 &K 170 145.0 23.0|212 224 34 N= +9 140 143.0 25.0
433 403 5v N+1 &6 680 155.0 13.0|301 302 2v S+2 &K 170 145.0 23.0|226 210 34 N= +9 140 143.0 25.0
106 128 4y N+1 «J 650 93.0 75.0(327 309 3v S+1 &K 170 145.0 23.0(227 209 34 N= +9 140 143.0 25.0
107 127 59y N= &J 650 93.0 75.0(433 401 3v S+1 &K 170 145.0 23.0|301 302 34 N= &A 140 143.0 25.0
110 124 4v N+1 &J 650 93.0 75.0(434 417 3v S+1 &K 170 145.0 23.0|308 328 34 N= +9 140 143.0 25.0
111 123 5y N= ¢A 650 93.0 75.0(105 131 3v S= oK 140 111.0 57.0|404 430 34 N= &A 140 143.0 25.0
113 121 5y N= ¢A 650 93.0 75.0(107 129 3v S= +6 140 111.0 57.0|413 421 34 N= +9 140 143.0 25.0
115 119 4v S+1 2 650 93.0 75.0(113 123 3v S= aK 140 111.0 57.0|415 419 34 N= +3 140 143.0 25.0
116 118 5+ N= «#J 650 93.0 75.0(114 122 3v S= oK 140 111.0 57.0|434 417 34 N= +9 140 143.0 25.0
120 114 5y N= «T 650 93.0 75.0(126 110 3v S= oK 140 111.0 57.0|534 517 34 S= &A 140 143.0 25.0
125 109 4v N+1 &J 650 93.0 75.0(127 109 2v S+1 ¢J 140 111.0 57.0|313 323 24 N= +6 110 128.0 40.0
129 105 4vy N+1 «J 650 93.0 75.0(134 118 3v S= oK 140 111.0 57.0|107 129 34 N-1 &A -100 117.0 51.0
133 101 5y N= &J 650 93.0 75.0(201 202 3v S= +J 140 111.0 57.0|217 219 34 N-1 9 -100 117.0 51.0
204 230 4vy N+1 «J 650 93.0 75.0(207 229 2v S+1 ¢A 140 111.0 57.0|221 215 44 N-1 9 -100 117.0 51.0
206 228 4y N+1 «J 650 93.0 75.0(208 228 2y S+1 &K 140 111.0 57.0|317 319 44 N-1 &A -100 117.0 51.0
207 227 5y N= #2650 93.0 75.0(211 225 3v S= 2 140 111.0 57.0|406 428 34 N-1 9 -100 117.0 51.0
210 224 4y N+1 ¢A 650 93.0 75.0(221 215 3v S= aK 140 111.0 57.0|506 528 44 N-1 ¢9 -100 117.0 51.0
212 222 4vy N+1 «J 650 93.0 75.0(232 204 3v S= oK 140 111.0 57.0|515 519 44 N-1 &#A -100 117.0 51.0
213 221 4y N+1 «J 650 93.0 75.0(233 203 3v S= oK 140 111.0 57.0|525 509 34 N-1 9 -100 117.0 51.0
215 219 5v N= ¢+A 650 93.0 75.0(234 218 3vy N= &K 140 111.0 57.0|529 505 34 S-1 ¥vA -100 117.0 51.0
233 201 5v N= &T 650 93.0 75.0(307 329 3v S= 2 140 111.0 57.0|531 503 44 N-1 9 -100 117.0 51.0
307 327 5¢ N= ¢A 650 93.0 75.0(312 324 3v S= 2 140 111.0 57.0|105 131 3¢ V= &5 -110 89.0 79.0
315 319 5v N= &J 650 93.0 75.0(314 322 3v S= aK 140 111.0 57.0|108 128 3¢ V= & -110 89.0 79.0
316 318 5y N= #J 650 93.0 75.0(316 320 3v S= oK 140 111.0 57.0|121 115 3¢ V= & -110 89.0 79.0
320 314 5y N= &J 650 93.0 75.0(317 319 3v S= 2 140 111.0 57.0|207 229 3¢ V= & -110 89.0 79.0
325 309 4vy N+1 «J 650 93.0 75.0(326 310 3v S= +J 140 111.0 57.0|232 204 3¢ V= & -110 89.0 79.0
326 308 5v N= &T 650 93.0 75.0(330 306 3v S= oK 140 111.0 57.0|305 331 3¢ V= aA -110 89.0 79.0
329 305 4y N+1 &2 650 93.0 75.0 (411 423 3v S= oK 140 111.0 57.0|312 324 3¢ V= &T -110 89.0 79.0
332 302 4vy N+1 «J 650 93.0 75.0(412 422 3v S= ¢+2 140 111.0 57.0|314 322 3¢ V= & -110 89.0 79.0
333 301 4vy N+1 «J 650 93.0 75.0(504 530 3v S= 4Q 140 111.0 57.0|321 315 3¢ V= &5 -110 89.0 79.0
334 317 5v S= +2 650 93.0 75.0(512 522 3v S= oK 140 111.0 57.0|326 310 3¢ V= &T -110 89.0 79.0
405 431 5v S= ¢+2 650 93.0 75.0|520 514 2v S+1 +2 140 111.0 57.0|330 306 3¢ V= & -110 89.0 79.0
407 429 5y N= &J 650 93.0 75.0(526 508 3v S= oK 140 111.0 57.0|407 427 3¢ V= &5 -110 89.0 79.0
411 425 59 N= ¢A 650 93.0 75.0(112 124 2v S= oK 110 82.0 86.0(410 424 3¢ O= &3 -110 89.0 79.0
413 423 4v N+1 &J 650 93.0 75.0(132 104 34 V-1 7 100 68.0 100.0 (416 418 3¢ V= & -110 89.0 79.0
414 422 5v N= &T 650 93.0 75.0(212 224 34 V-1 7 100 68.0 100.0 1420 414 2¢ V+1 & -110 89.0 79.0
416 420 4vy N+1 &J 650 93.0 75.0(311 325 34 V-1 7 100 68.0 100.0 (520 514 3¢ V= & -110 89.0 79.0
417 419 4v N+1 &J 650 93.0 75.0(333 303 34 V-1 7 100 68.0 100.0 (532 502 3¢ V= s A -110 89.0 79.0
427 409 5v N= ¢A 650 93.0 75.0|404 430 34 V-1 7 100 68.0 100.0 (533 501 3¢ V= &5 -110 89.0 79.0
430 406 4vy N+1 A 650 93.0 75.0(410 424 34 V-1 7 100 68.0 100.0 (101 102 2¢ V+2 &J -130 46.0 122.0
432 404 4v N+1 &J 650 93.0 75.0(415 419 34 V-1 7 100 68.0 100.0 (111 125 3¢ V+1 ¢vK -130  46.0 122.0
501 502 5v N= #2 650 93.0 75.0|431 403 34 V-1 v6 100 68.0 100.0 |113 123 3¢ V+1 &A -130 46.0 122.0
505 531 4v N+1 &J 650 93.0 75.0(432 402 34 V-1 7 100 68.0 100.0 (114 122 3¢ V+1 &A -130 46.0 122.0
508 528 4v N+1 &J 650 93.0 75.0(513 521 34 V-1 7 100 68.0 100.0 (116 120 3¢ V+1 vK -130  46.0 122.0
511 525 5y N= ¢A 650 93.0 75.0|525 509 34 V-1 7 100 68.0 100.0 |126 110 3¢ V+1 &A -130 46.0 122.0
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512 524 5v N= ¢+A 650 93.0 75.0(529 505 34 V-1 7 100 68.0 100.0 (132 104 3¢ V+1 ¢vK -130  46.0 122.0
513 523 5y N= ¢A 650 93.0 75.0(531 503 34 V-1 ¢A 100 68.0 100.0 (133 103 3¢ V+1 &J -130  46.0 122.0
516 520 5y N= ¢A 650 93.0 75.0(111 125 4v S-1 &K -50 44.0 124.0(134 118 3¢ V+1 +6 -130  46.0 122.0
517 519 5y N= &J 650 93.0 75.0(121 115 4v S-1 &K -50  44.0 124.0|205 231 3¢ V+1 &A -130  46.0 122.0
521 515 5y N= &T 650 93.0 75.0(130 106 3v S-1 +¢2 -50 44.0 124.0|214 222 2¢ V+2 &2 -130  46.0 122.0
526 510 5v S= +2 650 93.0 75.0(227 209 4v S-1 &K -50 44.0 124.0(234 218 2¢ V+2 &2 -130  46.0 122.0
532 504 4v N+1 &J 650 93.0 75.0(305 331 4v S-1 &A -50 44.0 124.0|307 329 3¢ V+1 &A -130  46.0 122.0
533 503 5y N= ¢A 650 93.0 75.0(332 304 4v S-1 &K -50 44.0 124.0|316 320 3¢ V+1 &J -130  46.0 122.0
534 518 5y N= #J 650 93.0 75.0(406 428 4v S-1 &K -50  44.0 124.0|327 309 3¢ V+1 &A -130  46.0 122.0
104 130 44 S= v4 620 34.0 134.0 (413 421 4v S-1 &K -50 44.0 124.0|332 304 3¢ V+1 ¢¥K -130  46.0 122.0
211 223 4vy N= &J 620 34.0 134.0 (426 408 4y S-1 +¢2 -50 44.0 124.0|334 318 3¢ V+1 & -130  46.0 122.0
216 218 4vy N= #J 620 34.0 134.0|506 528 4v S-1 +¢2 -50 44.0 124.0 (412 422 3¢ V+1 +5 -130  46.0 122.0
306 328 4vy N= &J 620 34.0 134.0 (533 501 4v S-1 &K -50  44.0 124.0|425 409 2¢ V+2 &2 -130  46.0 122.0
310 324 4vy N= &J 620 34.0 134.0(108 128 4vy S-2 42 -100  30.0 138.0 {426 408 4¢ V= EN) -130  46.0 122.0
313 321 4vy N= &2 620 34.0 134.0 (313 323 5v S-2 &K -100  30.0 138.0 {429 405 3¢ V+1 &J -130 46.0 122.0
507 529 4v S= a2 620 34.0 134.0 (420 414 54 S-2 &K -100  30.0 138.0|504 530 3¢ V+1 2 -130  46.0 122.0
131 103 3y N+3 «J 230 26.0 142.0 (101 102 2« V= v7 -110  21.0 147.0|510 524 3¢ V+1 2 -130  46.0 122.0
126 108 5v N-1 & -100 14.0 154.0 (213 223 24 V= v6 -110  21.0 147.0|511 523 3¢ V+1 ¢¥K -130  46.0 122.0
220 214 6Yy N-1 +A -100  14.0 154.0 {226 210 24 V= v6 -110 21.0 147.0|512 522 3¢ V+1 &J -130  46.0 122.0
226 208 5v N-1 &) -100  14.0 154.0 |416 418 24 V= v7 -110 21.0 147.0|211 225 3¢ V+2 vK -150 14.0 154.0
232 202 5v N-1 &) -100  14.0 154.0 |511 523 24 V= v7 -110 21.0 147.0(216 220 3¢ V+2 ¥K -150 14.0 154.0
304 330 5v N-1 &T -100  14.0 154.0|534 517 24 V= v7 -110 21.0 147.0 1411 423 3¢ V+2 vK -150 14.0 154.0
401 402 4v N-1 &T -100  14.0 154.0 117 119 4¢ O= YA -130 13.0 155.0 431 403 3¢ V+2 vK -150 14.0 154.0
408 428 5v N-1 ] -100 14.0 154.0|334 318 3¢ O+1 VYA -130  13.0 155.0 432 402 3¢ V+2 ¢¥K -150 14.0 154.0
434 418 6vy N-1 ¢A -100 14.0 154.0 |407 427 34 O= vK -140 9.0 159.0 [507 527 3¢ V+2 vK -150 14.0 154.0
514 522 6v N-1 +¢A -100  14.0 154.0 1429 405 24 V+1 v6 -140 9.0 159.0 (526 508 3¢ V+2 v¥K -150 14.0 154.0
527 509 44 S-1 2 -100  14.0 154.0|133 103 4v S-3 &K -150 5.0 163.0 (213 223 3¢ V+3 ¢vK -170 6.0 162.0
530 506 6¥ N-1 +¢A -100  14.0 154.0|510 524 3NS-3 ¥5 -150 5.0 163.0 (333 303 34 S-2 &A -200 3.0 165.0
412 424 T7v N-2 ¢A -200 2.0 166.0 |425 409 34 V+2 +A -200 2.0 166.0 (433 401 44 N-2 &A -200 3.0 165.0
312 322 64 N-5 & -500 0.0 168.0 (516 518 3¢DO= vA -670 0.0 168.0|201 202 44DV +1 #J -910 0.0 168.0
37 - 38 & K87 39 #9753
Nord v EKKn104 Ost v 1075 Syd vE
NS + EK102 oV + D10863 Alla + D8532
&#KD54 &105 &E87
4 K108432 & DKn765 & DKn3 #1096 4ED10 &K82
v8 v 62 v E83 v KDKn6 v9874 vK1053
+ D87 +94 +9 ¢ Kn2 ¢ Kn109 ¢ K64
#1063 S»E972 4987643 #EDKnN2 &#Knl05 #KD6
4 E9 & E542 4 Kn64
v D9753 v 942 v DKn62
4 Kn653 ¢+ EK754 ¢ E7
»Kn8 »K #9432
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
101 104 6y N= &K 1430 136.0 32.0|131 107 3NO-4 ¢4 400 168.0 0.0|313 327 3vDO-1 ¢A 200 167.0 1.0
102 103 6y N= &A 1430 136.0 32.0|514 526 3NO-3 ¢A 300 166.0 2.0|517 521 3v O-2 &2 200 167.0 1.0
106 132 6y N= &A 1430 136.0 32.0|112 126 INO-2 5 200 161.0 7.01234 220 INV-1 +2 100 160.0 8.0
108 130 6v N= v2 1430 136.0 32.0|217 221 INV-2 ¢3 200 161.0 7.01401 404 2v O-1 &6 100 160.0 8.0
109 129 6y N= &A 1430 136.0 32.0|317 321 INO-2 5 200 161.0 7.01427 411 3v V-1 2 100 160.0 8.0
112 126 6vy N= &A 1430 136.0 32.0|523 517 INO-2 5 200 161.0 7.0|501 504 INV-1 &3 100 160.0 8.0
115 123 6y S= &3 1430 136.0 32.0|233 205 3¢ S+1 &8 130 156.0 12.0|514 524 3v V-1 2 100 160.0 8.0
117 121 6y N= &A 1430 136.0 32.0|109 129 24 N= vK 110 151.0 17.0|303 304 INS= & 90 154.0 14.0
201 204 6vy N= &A 1430 136.0 32.0|215 223 3¢ S= &T 110 151.0 17.0|115 125 14 N= &K 80 152.0 16.0
209 229 6y N= &J 1430 136.0 32.0|418 422 3¢ S= «Q 110 151.0 17.0118 122 INV = *2 -90 150.0 18.0
217 221 6y N= «Q 1430 136.0 32.0|502 505 2¢ S+1 «Q 110 151.0 17.0|128 112 INN-1 ¥9 -100 140.0 28.0
233 205 6y N= &A 1430 136.0 32.0|206 232 INO-1 ¢A 100 140.0 28.0|215 225 INN-1 &2 -100 140.0 28.0
301 304 6v S= &3 1430 136.0 32.0|301 304 INO-1 3 100 140.0 28.0|301 306 14 N-1 &K -100 140.0 28.0
302 303 6y S= &3 1430 136.0 32.0|407 433 44 V-1 &7 100 140.0 28.0|316 324 2¢ N-1 +4 -100 140.0 28.0
312 326 6v S= &4 1430 136.0 32.0|410 430 44 0-1 ¢A 100 140.0 28.0|323 317 2¢ N-1 +6 -100 140.0 28.0
331 307 6vy S= v8 1430 136.0 32.0|414 426 4 V-1 6 100 140.0 28.0|409 429 2¢ N-1 &K -100 140.0 28.0
334 319 6y N= &A 1430 136.0 32.0|415 425 44V-1 v6 100 140.0 28.0(434 419 14 N-1 &K -100 140.0 28.0
403 404 6y N= &4 1430 136.0 32.0|513 527 INO-1 ¢4 100 140.0 28.0|506 532 24 S-1 T -100 140.0 28.0
407 433 6vy N= &A 1430 136.0 32.0|218 220 2¢ S= v3 90 131.0 37.0|512 526 24 S-1 ¢ -100 140.0 28.0
410 430 6y N= &Q 1430 136.0 32.0|507 533 2¢ S= vA 90 131.0 37.0|101 106 2y O= +¢A -110 111.0 57.0
413 427 6y N= &Q 1430 136.0 32.0|101 104 3¢ N-1 ¢¥K -50 104.0 64.0|102 105 2v V= +8 -110 111.0 57.0
415 425 6y N= «J 1430 136.0 32.0|102 103 3¢ S-1 &4 -50 104.0 64.0|119 121 1v V+1 &A -110 111.0 57.0
419 421 6vy N= «Q 1430 136.0 32.0|106 132 4¢ S-1 &9 -50 104.0 64.0(132 108 2v V= +3 -110 111.0 57.0
432 408 6y N= &Q 1430 136.0 32.0|108 130 3¢ S-1 &Q -50 104.0 64.0|201 206 2y O= &4 -110 111.0 57.0
434 420 6v S= &3 1430 136.0 32.0|113 125 3¢ S-1 &9 -50 104.0 64.0(202 205 2v V= 49 -110 111.0 57.0
501 506 6v S = &3 1430 136.0 32.0|118 120 3¢ N-1 ¥K -50 104.0 64.0|203 204 2vy O= 44 -110 111.0 57.0
502 505 6y N= &A 1430 136.0 32.0|133 105 3¢ S-1 9 -50 104.0 64.0(209 231 2v V= +3 -110 111.0 57.0
503 504 6vy N= 2 1430 136.0 32.0|201 204 3¢ S-1 &9 -50 104.0 64.0|216 224 2y O= +A -110 111.0 57.0
509 531 6y N= &A 1430 136.0 32.0|209 229 4¢ S-1 &Q -50 104.0 64.0(218 222 2v V= ¢A -110 111.0 57.0
515 525 6v S= &3 1430 136.0 32.0|212 226 3¢ S-1 &8 -50 104.0 64.0|229 211 2y O= &5 -110 111.0 57.0
519 521 6v S= v8 1430 136.0 32.0|227 211 3¢ N-1 ¢K -50 104.0 64.0|314 326 1lv V+1 45 -110 111.0 57.0
532 508 6v S= &4 1430 136.0 32.0|231 207 3¢ N-1 ¢¥K -50 1040 64.0(328 312 29y O= &3 -110 111.0 57.0
534 520 6y N= &A 1430 136.0 32.0|234 219 3¢ S-1 &Q -50 104.0 64.0|402 403 2vy O= +¢A -110 111.0 57.0
202 203 74D O -6 vQ 1400 102.0 66.0|308 330 3¢ S-1 YA -50 104.0 64.0|406 432 2v V= +3 -110 111.0 57.0
133 105 64D O -5 vQ 1100 89.0 79.0(309 329 4¢ S-1 YA -50 104.0 64.0|417 421 2v O = &3 -110 111.0 57.0
214 224 64DV-5 vA 1100 89.0 79.0(312 326 34 S-1 +¢9 -50 104.0 64.0|428 410 2y O= &3 -110 111.0 57.0
234 219 64D O-5 oA 1100 89.0 79.0(315 323 3¢ S-1 &8 -50 104.0 64.0|513 525 2v V= *2 -110 111.0 57.0
308 330 64D O-5 #J 1100 89.0 79.0(322 316 3¢ N-1 ¥K -50 104.0 64.0|527 511 2v 0= A -110 111.0 57.0
309 329 64DV-5 vK 1100 89.0 79.0(327 311 3¢ N-1 ¥K -50 104.0 64.0|534 519 2vy O= &4 -110 111.0 57.0
314 324 64DV -5 vA 1100 89.0 79.0(334 319 3¢ S-1 «Q -50 104.0 64.0 (113 127 INV+1 ¢2 -120 68.0 100.0
318 320 64D O -5 #J 1100 89.0 79.0(403 404 3¢ S-1 v4 -50 1040 64.0(116 124 INO+1 ¥v6 -120 68.0 100.0
322 316 64DV-5 vA 1100 89.0 79.0(509 531 3¢ N-1 ¢2 -50 104.0 64.0(123 117 INO+1 &4 -120 68.0 100.0
333 305 6aDO-5 #J 1100 89.0 79.0(515 525 3¢ S-1 ¢3 -50 104.0 64.0|129 111 INO+1 &9 -120 68.0 100.0
418 422 64DV -5 ¢A 1100 89.0 79.0(524 516 3¢ N-1 &A -50 1040 64.0(134 120 INV+1 ¢3 -120 68.0 100.0
518 522 64D O-5 #J 1100 89.0 79.0(532 508 3¢ S-1 &9 -50 104.0 64.0(210 230 INO+1 &2 -120 68.0 100.0
524 516 64D O-5 #J 1100 89.0 79.0(122 116 INO= *4 90 75.0 93.0|219 221 INO+1 ¥2 -120  68.0 100.0
222 216 54DV -4 vA 800 72.0 96.0(208 230 INO= +A 90 75.0 93.01223 217 INV+1 &7 -120 68.0 100.0
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227 211 64DV-4 vA 800 72.0 96.0(306 332 INO= ¢4 -90 750 93.0(228 212 INO+1 ¥6 -120  68.0 100.0
313 325 54D O-4 «J 800 72.0 96.0(510 530 INO= +¢K 90 750 93.0(318 322 INO+1 vQ -120 68.0 100.0
315 323 64DV-4 vA 800 72.0 96.0(202 203 4¢ N-2 vK -100 61.0 107.0(319 321 INV+1 &5 -120  68.0 100.0
523 517 64D O-4 vQ 800 72.0 96.0(213 225 4¢ S-2 «Q -100 61.0 107.0{408 430 INO+1 &3 -120  68.0 100.0
113 125 5v N+1 v6 680 54.0 114.0 (222 216 4¢ S-2 4Q -100 61.0 107.0 ({412 426 INO+1 ¥2 -120  68.0 100.0
122 116 4y N+2 4Q 680 54.0 114.0 (302 303 34 N-2 vK -100 61.0 107.0 {413 425 INV+1 2 -120  68.0 100.0
134 119 4v N+2 4Q 680 54.0 114.0 (313 325 44 S-2 vK -100 61.0 107.0 (414 424 INO+1 ¥2 -120  68.0 100.0
206 232 5v N+1 «Q 680 54.0 114.0 |409 431 4¢ S-2 &5 -100  61.0 107.0 (418 420 INO+1 &3 -120  68.0 100.0
208 230 5v N+1 «Q 680 54.0 114.0 (423 417 4¢ N-2 vA  -100 61.0 107.0 {422 416 INO+1 ¥2 -120  68.0 100.0
228 210 5v S+1 &K 680 54.0 114.0 |428 412 4¢ S-2 46 -100  61.0 107.0 {431 407 INO+1 v6 -120  68.0 100.0
401 406 5v N+1 &5 680 54.0 114.0 {432 408 4¢ S-2 43 -100  61.0 107.0 {433 405 INO+1 3 -120  68.0 100.0
402 405 4y N+2 «Q 680 54.0 114.0|519 521 4¢ S-2 vA -100 61.0 107.0({502 503 INO+1 +¢3 -120  68.0 100.0
414 426 4y N+2 «8 680 54.0 114.0 114 124 3#O0= ¢A -110 40.0 128.0(508 530 INO+1 ¥2 -120  68.0 100.0
416 424 5v N+1 9 680 54.0 114.0|115 123 2v O= ¢A -110 40.0 128.0(528 510 INO+1 44 -120  68.0 100.0
423 417 59 N+1 5 680 54.0 114.0(117 121 3« O0= ¢A -110 40.0 128.0(533 505 INO+1 +6 -120  68.0 100.0
513 527 4v N+2 49 680 54.0 114.0 127 111 34 O0= 2 -110  40.0 128.0 (334 320 1v V+2 v6 -140  44.0 124.0
529 511 4v N+2 +9 680 54.0 114.0|314 324 3+ 0= ¢A -110 40.0 128.0(114 126 INO+2 ¥2 -150  39.0 129.0
131 107 5v N= 4Q 650 40.0 128.0328 310 3« V= a7 -110  40.0 128.0 (302 305 INO+2 ¥2 -150  39.0 129.0
507 533 3NS+1 43 630 38.0 130.0 (331 307 3« O= ¢A -110 40.0 128.0(509 529 INO+2 v4 -150  39.0 129.0
328 310 44DV-2 vA 300 35.0 133.0 (429 411 3#V= ¢A -110 40.0 128.0(531 507 INO+2 ¥2 -150  39.0 129.0
429 411 44DO-2 #J 300 35.0 133.0 (434 420 3« O= ¢A -110 40.0 128.0(103 104 24 N-2 #K -200 19.0 149.0
212 226 64 V-4 vA 200 32.0 136.0 (501 506 3#O= ¢A -110 40.0 128.0 (107 133 24 N-2 ¥5 -200  19.0 149.0
114 124 7v S-1 43 -100 23.0 145.0(518 522 3« O= ¢A -110 40.0 128.0(109 131 1v S-2 &) -200  19.0 149.0
118 120 6v S-1  ¢7 -100 23.0 145.0 (401 406 3« O+1 ¢A  -130 26.0 142.0|110 130 24 N-2 &2 -200  19.0 149.0
127 111 6vy N-1 «Q -100 23.0 145.0 (503 504 3# O+1 &2 -130  26.0 142.0 (207 233 24DS-1 vA  -200 19.0 149.0
218 220 7v N-1 # -100  23.0 145.0 (534 520 3#V+1 43 -130 26.0 142.0 (213 227 24 S-2 7 -200 19.0 149.0
231 207 6v S-1 8 -100 23.0 145.0(333 305 2v O+1 ¢A  -140 210 147.0(214 226 24 N-2 #Q -200 19.0 149.0
317 321 7v S-1 3 -100 23.0 145.0 {402 405 3vy O= ¢A  -140 210 147.0|307 333 24 N-2 & -200  19.0 149.0
327 311 6vy N-1 «Q -100 23.0 145.0|128 110 5¢ S-3 &5 -150  16.0 152.0 (309 331 24 N-2 &K  -200 19.0 149.0
428 412 7v S-1 v8 -100  23.0 145.0 (214 224 5¢ S-3 ¢9 -150  16.0 152.0 (310 330 2¢ N-2 &K  -200 19.0 149.0
213 225 7vDN-1 «A  -200 8.0 160.0 (419 421 54 S-3 vA  -150 16.0 152.0 (315 325 24 S-2 ¥9 -200  19.0 149.0
215 223 7vDS-1 v8 -200 8.0 160.0 (416 424 INO+3 ¢3 -180 12.0 156.0 (329 311 2¢ N-2 &K  -200 19.0 149.0
306 332 7vDS-1 #3 -200 8.0 160.0 (413 427 2v O+3 ¢K -200 10.0 158.0|332 308 INS-2 ¥9 -200  19.0 149.0
409 431 7vyDS-1 3 -200 8.0 160.0 (134 119 4¢DN-2 vK  -300 8.0 160.0 (515 523 INS-2 ¢J -200  19.0 149.0
510 530 7vDS-1 42 -200 8.0 160.0 (228 210 5¢DS-3 #9 -500 4.0 164.0 (518 520 14 N-2 &2 -200 19.0 149.0
514 526 7vDS-1 #3 -200 8.0 160.0 (318 320 5¢DS-3 vA  -500 4.0 164.0(522 516 24 N-2 &K  -200 19.0 149.0
528 512 7vDN-1 «A  -200 8.0 160.0 (529 511 5¢DS-3 vA  -500 4.0 164.0(232 208 3#S-3 v9 -300 2.0 166.0
128 110 6NDN-2 v3 -500 0.0 168.0 (528 512 44D S-4 #9 -800 0.0 168.0 (415 423 24DS-2 ¢J -500 0.0 168.0
40 & D952 41 454 42  KKn109843
Vast v Kn10873 Nord v K1096 Ost v10
Ingen + Kn9 ov + 10752 Alla +D4
*K3 #K52 #Kn65
4E1074 #K6 4EK92 o- D 47652
vEKD954 v6 v8754 vEKn32 vD984 vE63
*- ¢ EKD8632 ¢ Kn93 ¢ EKD864 4982 + E106
«D104 #EKn6 *97 #843 #E9842 #K107
« Kn83 « DKn108763 oE
v2 vD v KKn752
¢ 10754 ¢- ¢ KKn753
#98752 #EDKN106 +D3
Par Kontr ut Res Poéang Par Kontr ut Res Poéng Par Kontr Ut Res Poang
201 206 6NO-3 v2 150 167.0 1.0(224 218 44DS+1 v5 690 167.0 1.0(215 227 24DN+4 v3 1470 168.0 0.0
533 505 7NO-3 ¥2 150 167.0 1.0|418 426 44DS+1 ¢3 690 167.0 1.0(430 414 44 N+1 42 650 166.0 2.0
114 126 7NO-2 #9 100 149.0 19.0(310 332 24DS+2 ¢3 670 1640 4.0|319 323 44 N= +A 620 163.0 5.0
128 112 7NO-2 ¢Q 100 1490 19.0(102 107 44DS= #A 590 151.0 17.0|531 513 44 N= &«5 620 163.0 5.0
129 111 7NO-2 &9 100 149.0 19.0(120 122 44DS= 43 590 151.0 17.0|317 325 3«4 N+3 +A 230 160.0 8.0
210 230 7NO-2 #9 100 149.0 19.0(124 118 44DS= ¢3 590 1510 17.0(434 422 24 N+3 &7 200 156.0 12.0
213 227 TNO-2 #8 100 149.0 19.0|210 232 44DS= ¢3 590 1510 17.0(517 527 24 N+3 47 200 156.0 12.0
214 226 TNO-2 #9 100 149.0 19.0(220 222 44DS= ¢J 590 1510 17.0(520 524 24 N+3 4 200 156.0 12.0
223 217 7TNO-2 #2 100 149.0 19.0|304 305 44DS= ¢3 590 1510 17.0(102 107 24 N+2 #7 170 126.0 420
228 212 7TNO-2 #7 100 149.0 19.0|311 331 44DS= &9 590 1510 17.0(103 106 24 N+2 «J 170 126.0 420
315 325 7NO-2 #9 100 149.0 19.0(320 322 44DS= ¢3 590 1510 17.0(108 101 24 N+2 &7 170 126.0 420
402 403 7NO-2 #5 100 149.0 19.0|333 309 44DS= #9 590 151.0 17.0(110 132 24 N+2 ¢3 170 126.0 420
409 429 7TNO-2 #6 100 149.0 19.0|411 433 44DS= 3 590 151.0 17.0(114 128 24 N+2 ¢6 170 126.0 420
422 416 7NO-2 #9 100 149.0 19.0|515 529 44DS= 3 590 151.0 17.0|115 127 34 N+1 &7 170 126.0 420
427 411 7NDO-1 #9 100 149.0 19.0|520 524 44DS= ¥5 590 151.0 17.0(117 125 24 N+2 &7 170 126.0 420
434 419 7TNO-2 #2 100 149.0 19.0|119 123 24DS+1 ¢3 570 137.0 31.0|120 122 24 N+2 #3 170 126.0 42.0
514 524 7TNO-2 #7 100 149.0 19.0(229 213 24DS+1 ¢9 570 137.0 31.0(124 118 24 N+2 &7 170 126.0 42.0
522 516 7TNO-2 #9 100 149.0 19.0(330 312 5¢DO-2 4Q 500 1310 37.0(129 113 24 N+2 &2 170 126.0 420
109 131 7NO-1 49 50 116.0 52.0|404 407 5vDO-2 «Q 500 131.0 37.0(130 112 24 N+2 &7 170 1260 420
116 124 6v V-1 a5 50 116.0 52.0|430 414 5¢DO-2 «Q 500 131.0 37.0({204 205 24 N+2 &7 170 126.0 42.0
118 122 7NO-1 42 50 116.0 52.0|517 527 5vDO-2 «Q 500 131.0 37.0(210 232 24 N+2 &7 170 126.0 420
132 108 7NO-1 49 50 116.0 52.0|111 131 44 S= 3 420 1240 44.0|211 231 34 N+1 &8 170 126.0 420
207 233 7TNO-1 #9 50 116.0 52.0|233 209 44 S= 8 420 124.0 44.0(224 218 24 N+2 ¥3 170 126.0 420
216 224 TNO-1 49 50 116.0 52.0|525 519 44 S= 3 420 1240 44.0(229 213 24 N+2 #7 170 126.0 420
303 304 7¢ O-1 49 50 116.0 52.0|203 206 5¢ O-2 «Q 200 1140 54.0(233 209 34 N+1 &3 170 1260 420
314 326 TNO-1 #9 50 116.0 52.0|314 328 5¢ O-2 «Q 200 114.0 54.0(302 307 24 N+2 &7 170 126.0 42.0
401 404 7NO-1 6 50 116.0 52.0|420 424 5¢DO-1 «Q 200 1140 54.0(310 332 34 N+1 47 170 126.0 420
408 430 7TNO-1 #9 50 116.0 52.0|501 510 5¢ O-2 #A 200 1140 54.0(316 326 34 N+1 &7 170 1260 420
412 426 7TNO-1 9 50 116.0 52.0|512 532 5¢ O-2 «Q 200 114.0 54.0(330 312 24 N+2 &7 170 126.0 42.0
415 423 7INO-1 &2 50 116.0 52.0|516 528 5¢ O-2 «Q 200 114.0 54.0(401 410 24 N+2 #A 170 126.0 420
506 532 7TNO-1 49 50 116.0 52.0|534 522 5¢ O-2 «Q 200 114.0 54.0(405 406 24 N+2 42 170 1260 420
508 530 7NO-1 #9 50 116.0 52.0|431 413 34 S+1 A 170 106.0 62.0|415 429 24 N+2 43 170 126.0 420
513 525 7NO-1 49 50 116.0 52.0|204 205 34 S= +2 140 104.0 64.0(416 428 24 N+2 +6 170 126.0 420
527 511 7NO-1 49 50 116.0 52.0|103 106 5¢ O-1 «Q 100 99.0 69.0 (420 424 34 N+1 &7 170 126.0 42.0
531 507 7NO-1 &5 50 116.0 52.0|202 207 4v V-1 &4 100 99.0 69.0(515 529 24 N+2 ¢4 170 126.0 42.0
418 420 4¢ O+2 v2 -170 98.0 70.0({208 201 4v O-1 «Q 100 99.0 69.0(104 105 24 N+1 &5 140 63.0 105.
517 521 5¢ O+1 &3 -420  96.0 72.0(425 419 4¢ O-1 «J 100 99.0 69.0(111 131 24 N+1 vA 140 63.0 105.0
229 211 4v O+1 38 -450 94.0 74.0(133 109 44 S-1 ¢J -50 91.0 77.0(116 126 24 N+1 &7 140 63.0 105.0
203 204 ANO+2 %9 -490 86.0 82.0 (409 402 44 S-1 ¢2 -50 910 77.0(119 123 34 N= &7 140 63.0 105.0
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209 231 3NV +3 42 -490 86.0 82.0|505 506 44 N-1 &9 -50  91.0 77.0|133 109 24 N+1 &2 140 63.0 105.0
215 225 3NO+3 &9 -490 86.0 82.0|511 533 44 S-1 ¢3 -50 91.0 77.0|134 121 24 N+1 &2 140 63.0 105.0
319 321 3NO+3 3 -490 86.0 82.0|104 105 44D S-1 &3 -100 53.0 115.0 (202 207 24 N+1 &3 140 63.0 105.0
332 308 3NO +3 &2 -490 86.0 82.0|108 101 44D S-1 ¢3 -100  53.0 115.0|203 206 34 N= &K 140 63.0 105.0
433 405 3N O +3 #9 -490 86.0 82.0(110 132 44D S-1 #9 -100  53.0 115.0 (214 228 24 N+1 &7 140 63.0 105.0
501 504 3NO+3 43 -490 86.0 82.0(114 128 44DN-1 ¢3 -100 53.0 115.0(216 226 34 N= &7 140 63.0 105.0
113 127 ANO+3 43 -520 77.0 91.0|115 127 44D S-1 v5 -100  53.0 115.0 (217 225 24 N+1 &7 140 63.0 105.0
202 205 3NO+4 #9 520 77.0 91.0(116 126 44DS-1 ¢3 -100  53.0 115.0 (219 223 24 N+1 &K 140 63.0 105.0
102 105 64 O= &9 -920 66.0 102.0 {117 125 44D S-1 ¢J -100 53.0 115.0(234 221 24 N+1 &7 140 63.0 105.0
232 208 64 O= &2 -920 66.0 102.0 129 113 44D S-1 ¥5 -100  53.0 115.0|303 306 24 N+1 &2 140 63.0 105.0
234 220 64 O= 9 -920 66.0 102.0 130 112 44D S-1 ¢9 -100 53.0 115.0|304 305 24 N+1 &7 140 63.0 105.0
302 305 64 O= v2 -920 66.0 102.0 (211 231 44D N-1 &9 -100  53.0 115.0 311 331 24 N+1 &2 140 63.0 105.0
309 331 64 O= &9 -920 66.0 102.0 (214 228 44D S-1 v8 -100  53.0 115.0 (314 328 24 N+1 &5 140 63.0 105.0
323 317 64 O= 48 -920 66.0 102.0 (215 227 44D S-1 #9 -100 53.0 115.0 324 318 24 N+1 &5 140 63.0 105.0
328 312 64 O= v2 -920 66.0 102.0 216 226 44D S-1 v7 -100  53.0 115.0 (333 309 34 N= &7 140 63.0 105.0
512 526 6¢ O= &7 -920 66.0 102.0 219 223 44DS-1 ¢3 -100  53.0 115.0 {403 408 34 N= #4 140 63.0 105.0
515 523 6¢ O= 43 -920 66.0 102.0 {230 212 44D N-1 #9 -100  53.0 115.0 {404 407 34 N= &7 140 63.0 105.0
101 106 6NV = vJ -990 33.0 135.0 (234 221 44DS-1 #9 -100  53.0 115.0 {409 402 24 N+1 &2 140 63.0 105.0
103 104 6NO= &2 -990 33.0 135.0|303 306 44D S-1 &9 -100  53.0 115.0 {411 433 24 N+1 &7 140 63.0 105.0
110 130 6NO = &7 -990 33.0 135.0|308 301 44DS-1 ¢3 -100  53.0 115.0 {412 432 24 N+1 &5 140 63.0 105.0
115 125 6NO= &9 -990 33.0 135.0 (316 326 44DS-1 ¢3 -100 53.0 115.0 (417 427 24 N+1 &5 140 63.0 105.0
119 121 6NV = vJ -990 33.0 135.0319 323 44DS-1 ¢9 -100  53.0 115.0 {418 426 24 N+1 &3 140 63.0 105.0
123 117 6NV = &9 -990 33.0 135.0 334 321 44DS-1 ¢3 -100  53.0 115.0 |421 423 24 N+1 #3 140 63.0 105.0
218 222 6NV = &9 -990 33.0 135.0 401 410 44D S-1 ¢6 -100 53.0 115.0 (425 419 24 N+1 &7 140 63.0 105.0
219 221 6NO= v2 -990 33.0 135.0 {403 408 54D S-1 ¢3 -100  53.0 115.0 431 413 34 N= &2 140 63.0 105.0
301 306 6NO= &2 -990 33.0 135.0 {405 406 44DS-1 ¢9 -100 53.0 115.0|505 506 24 N+1 &7 140 63.0 105.0
307 333 6NO = &9 -990 33.0 135.0 412 432 44D S-1 ¢3 -100  53.0 115.0|509 502 24 N+1 +6 140 63.0 105.0
313 327 6NO= &9 -990 33.0 135.0 (415 429 44D S-1 ¢J -100  53.0 115.0|511 533 34 N= ¢A 140 63.0 105.0
316 324 6NV = a4 -990 33.0 135.0|416 428 44D S-1 ¢6 -100 53.0 115.0|512 532 24 N+1 &7 140 63.0 105.0
318 322 6NO = &9 -990 33.0 135.0 421 423 44D S-1 ¢3 -100  53.0 115.0|516 528 34 N= &7 140 63.0 105.0
329 311 6NO= %9 -990 33.0 135.0 434 422 44D S-1 ¢3 -100  53.0 115.0|518 526 24 N+1 &7 140 63.0 105.0
334 320 6NO= 6 -990 33.0 135.0|503 508 44D S-1 &7 -100  53.0 115.0 525 519 24 S+1 &A 140 63.0 105.0
406 432 6NO= %9 -990 33.0 135.0|504 507 44D S-1 ¢2 -100  53.0 115.0 534 522 2v S= «Q 110 26.0 142.0
414 424 6N O = +*J -990 33.0 135.0 521 523 44DS-1 v8 -100  53.0 115.0|501 510 3« V-1 T 100 24.0 144.0
417 421 6NO= &8 -990 33.0 135.0|530 514 44DS-1 ¢3 -100  53.0 115.0|208 201 44 N-1 &2 -100  14.0 154.0
428 410 6NO= %9 -990 33.0 135.0|531 513 44DS-1 ¢3 -100  53.0 115.0 220 222 44 N-1 &3 -100 14.0 154.0
431 407 6NO= %9 -990 33.0 135.0 134 121 4¢ O= &Q -130  18.0 150.0 {308 301 44 N-1 &2 -100 14.0 154.0
502 503 6NO= 9 -990 33.0 135.0 315 327 44DN-2 ¢K -300 12.0 156.0 315 327 44 N-1 vA -100  14.0 154.0
509 529 6N O = &2 -990 33.0 135.0(329 313 44D S-2 &9 -300  12.0 156.0 {329 313 44 N-1 &7 -100 14.0 154.0
528 510 6NO = &2 -990 33.0 135.0 417 427 54D S-2 ¢7 -300 12.0 156.0|334 321 2v S-1 &Q -100 14.0 154.0
534 519 6NO= &3 -990 33.0 135.0|509 502 54DS-2 ¢3 -300 12.0 156.0 |503 508 44 N-1 &2 -100  14.0 154.0
413 425 6NO+1 v2 -1020 8.0 160.0 (518 526 54D S-2 43 -300 12.0 156.0 |521 523 44 N-1 &7 -100 14.0 154.0
107 133 7NO= &9 -1520 3.0 165.0 (324 318 64D S-3 4A -500 6.0 162.0 (530 514 2v N-1 «Q -100 14.0 154.0
134 120 7NO= #9 -1520 3.0 165.0 ({302 307 3NV = a5 -600 4.0 164.0 (230 212 3& V= vT -110 4.0 164.0
310 330 7NO= T -1520 3.0 165.0|217 225 4v V= a5 -620 2.0 166.0 (504 507 3¢ S-4 +2 -400 2.0 166.0
518 520 7NO= &9 -1520 3.0 165.0 (317 325 4vyDV= &5 -790 0.0 168.0 (320 322 4¢ S-5 &A -500 0.0 168.0
43 #1053 44 & Kn53
Syd v KKn97 Vast v 1084
Ingen + D98 NS ¢ KKn9
D104 &E863
aKD94 487 » EB6 & KD104
v10532 v D864 v K652 v E973
¢ K1042 +63 +54 +102
&8 &EKB32 &#DKn102 #K95
& EKn62 4972
vYE v DKn
¢ EKn75 + ED8763
&#Kn975 &74
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
303 308 3NS= &8 400 168.0 0.0|502 507 2¢ S= *0Q 90 168.0 0.0
311 333 INN+3 &2 180 166.0 2.0|111 133 4v O-1 +A 50 161.0 7.0
125 119 2NN+1 &2 150 155.0 13.0|204 207 INO-1 7 50 161.0 7.0
221 223 INS+2 &K 150 155.0 13.0|317 327 4v O-1 &2 50 161.0 7.0
231 213 INS+2 &K 150 155.0 13.0|417 425 INO-1 +6 50 161.0 7.0
234 222 INS+2 &K 150 155.0 13.0|515 527 4v O-1 +A 50 161.0 7.0
309 302 2NV-3 ¢9 150 155.0 13.0|519 523 4v O-1 +A 50 161.0 7.0
402 407 2NN+1 6 150 155.0 13.0|411 431 Pass 154.0 14.0
420 422 INS+2 &K 150 155.0 13.0|330 314 INO= +3 -90 152.0 16.0
433 409 4v V-3 &4 150 155.0 13.0|434 421 3¢ S-1 £Q -100 150.0 18.0
508 501 2NN+1 &3 150 155.0 13.0|101 110 3v O= &7 -140 110.0 58.0
524 518 INS+2 «Q 150 155.0 13.0|109 102 3v V= ¢+ K -140 110.0 58.0
104 107 INN+1 &3 120 123.0 45.0|112 132 3v O= +A -140 110.0 58.0
111 133 INS+1 44 120 123.0 45.0|115 129 3v V= +9 -140 110.0 58.0
118 126 2N S= v3 120 123.0 45.0120 124 2v O+1 &7 -140 110.0 58.0
120 124 INN+1 &8 120 123.0 45.0(121 123 3vy O= &7 -140 110.0 58.0
130 114 INS+1 44 120 123.0 45.0|125 119 2v V+1 +¢9 -140 110.0 58.0
131 113 INN+1 «2 120 123.0 45.0|131 113 3v O= &7 -140 110.0 58.0
204 207 INN+1 &8 120 123.0 45.0209 202 2v V+1 +¢K -140 110.0 58.0
209 202 INS+1 &K 120 123.0 45.0|211 233 3vy O= &4 -140 110.0 58.0
211 233 INN+1 &2 120 123.0 45.0|212 232 2v O+1 3 -140 110.0 58.0
212 232 INN+1 &4 120 123.0 45.0(216 228 2v V+1 &3 -140 110.0 58.0
217 227 2NN= &2 120 123.0 45.0(225 219 3vy O= +A -140 110.0 58.0
301 310 INS+1 «4 120 123.0 45.0|231 213 3v O= ¢A -140 110.0 58.0
321 323 INN+1 &3 120 123.0 45.0|234 222 3v V= &3 -140 110.0 58.0
325 319 INN+1 &2 120 123.0 45.0|301 310 3v V= v3 -140 110.0 58.0
331 313 INN+1 &2 120 123.0 45.0|303 308 2v V+1 +¢K -140 110.0 58.0
403 406 INN+1 &A 120 123.0 45.0|304 307 3v O= &6 -140 110.0 58.0
404 405 INN+1 7 120 123.0 45.0|305 306 2v V+1 v4 -140 110.0 58.0
416 426 2N N= 7 120 123.0 45.0|309 302 3v O= ¢A -140 110.0 58.0
434 421 INN+1 &2 120 123.0 45.0|311 333 2¢v V+1 49 -140 110.0 58.0
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515 527 INS+1 &4 120 123.0 45.0|315 329 3v O= &7 -140 110.0 58.0
516 526 INN+1 #2 120 123.0 45.0(320 324 3y O= &7 -140 110.0 58.0
519 523 INS+1 v2 120 123.0 45.0(321 323 2v V+1 v4 -140 110.0 58.0
305 306 2¢ S+1 #8 110 99.0 69.0(325 319 2v O+1 <A -140 110.0 58.0
318 326 24 S= 48 110 99.0 69.0(331 313 3v V= &7 -140 110.0 58.0
105 106 2# O-2 vA 100 91.0 77.0(334 322 2¢v V+1 v4 -140 110.0 58.0
116 128 24 V-2 ¢8 100 91.0 77.0 (402 407 2y V+1 43 -140 110.0 58.0
215 229 24 0-2 vA 100 91.0 77.0(408 401 2y V+1 v4 -140 110.0 58.0
315 329 24 0-2 vA 100 91.0 77.0(415 427 3v O= +A -140 110.0 58.0
320 324 24D O-1 #5 100 91.0 77.0(416 426 3vy O= +A -140 110.0 58.0
514 528 24 0-2 vA 100 91.0 77.0(419 423 2y O+1 &7 -140 110.0 58.0
101 110 INN= &2 90 72.0 96.0 (433 409 34 O= ¢Q -140 110.0 58.0
117 127 INN= 438 90 72.0 96.0 (504 505 24 V+1 ¢2 -140 110.0 58.0
216 228 INN= &2 90 72.0 96.0 (508 501 2y O+1 &4 -140 110.0 58.0
230 214 INN= &8 90 72.0 96.0 (514 528 2v O+1 +A -140 110.0 58.0
304 307 INN= #A 90 72.0 96.0 (516 526 3v O= +A -140 110.0 58.0
312 332 INN= &2 90 72.0 96.0(520 522 3vy O= ¢Q -140 110.0 58.0
316 328 2¢ S= &K 90 72.0 96.0(524 518 3v O= vJ -140 110.0 58.0
334 322 INS= v3 90 72.0 96.0(103 108 3v O+1 ¥J -170  40.0 128.0
411 431 INN= &2 90 72.0 96.0 (104 107 34 O+1 &7 -170  40.0 128.0
424 418 INN= &2 90 72.0 96.0 (105 106 2y O+2 +A -170  40.0 128.0
529 513 2¢ S= &8 90 72.0 96.0 (116 128 2v V+2 v4 -170  40.0 128.0
530 512 INN= &2 90 72.0 96.0 (117 127 2v V+2 &2 -170  40.0 128.0
534 521 INN= &3 90 72.0 96.0 (118 126 2v V+2 43 -170  40.0 128.0
503 506 INO-1 7 50 57.0 111.0 (130 114 3v O+1 &2 -170  40.0 128.0
504 505 2v O-1 vA 50 57.0 111.0 (134 122 3v V+1 49 -170  40.0 128.0
103 108 24 S-1 v3 -50 37.0 131.0 (201 210 34 O+1 +A -170  40.0 128.0
109 102 2NN-1 &2 -50 37.0 131.0 (203 208 3y O+1 &7 -170  40.0 128.0
115 129 3N S-1 #8 -50 37.0 131.0 (205 206 3y O +1 &7 -170  40.0 128.0
121 123 24 S-1 #8 -50 37.0 131.0(215 229 3v O+1 vQ -170  40.0 128.0
203 208 INN-1 %6 -50 37.0 131.0 ({217 227 2y V+2 +9 -170  40.0 128.0
205 206 INN-1 &6 -50 37.0 131.0 (218 226 2y V+2 v4 -170  40.0 128.0
225 219 3¢ S-1 £8 -50 37.0 131.0 ({220 224 3y O+1 &7 -170  40.0 128.0
317 327 2¢ S-1 #8 -50 37.0 131.0 (221 223 2v O+2 ¥Q -170  40.0 128.0
330 314 INN-1 &3 -50 37.0 131.0 (230 214 3y O+1 &7 -170  40.0 128.0
408 401 3NN-1 &A -50 37.0 131.0(312 332 2v O+2 +A -170  40.0 128.0
410 432 INN-1 &2 -50 37.0 131.0 (316 328 2y O+2 &8 -170  40.0 128.0
417 425 3NN-1 &K -50 37.0 131.0|318 326 2v V+2 v4 -170  40.0 128.0
429 413 2¢ S-1 48 -50 37.0 131.0 (404 405 2y V+2 v8 -170  40.0 128.0
502 507 2N N-1 %3 -50 37.0 131.0 ({410 432 3vy O+1 43 -170  40.0 128.0
510 532 2N S-1 &8 -50 37.0 131.0 420 422 3v O+1 ¢Q -170  40.0 128.0
517 525 2¢ S-1 48 -50 37.0 131.0 (424 418 2y V+2 v4 -170  40.0 128.0
520 522 2¢ S-1 #8 -50 37.0 131.0 (429 413 1y V+3 v4 -170  40.0 128.0
533 509 3NS-1 &8 -50 37.0 131.0 ({510 532 2y O +2 &7 -170  40.0 128.0
201 210 INN-2 48 -100 14.0 154.0|511 531 1v V+3 &3 -170  40.0 128.0
414 428 3NN-2 &4 -100 14.0 154.0|517 525 2v O+2 vQ -170  40.0 128.0
415 427 3NN-2 #3 -100 14.0 154.0|529 513 3v O+1 &7 -170  40.0 128.0
430 412 24 S-2 vT -100 14.0 154.0|530 512 2v O+2 &7 -170  40.0 128.0
511 531 3NN-2 &3 -100 14.0 154.0|534 521 3v O+1 %8 -170  40.0 128.0
419 423 2v O= &5 -110 8.0 160.0 |403 406 3¢ S-2 #Q -200 5.0 163.0
220 224 INN-3 &2 -150 6.0 162.0|414 428 3¢ S-2 #Q -200 5.0 163.0
112 132 2¢DV= +¢Q -470 2.0 166.0|503 506 3¢ S-2 #Q -200 5.0 163.0
134 122 2¢yDO= vA -470 2.0 166.0 (533 509 2¢DS-1 # -200 5.0 163.0
218 226 2vDO= &7 -470 2.0 166.0|430 412 4v V= v8 -420 0.0 168.0
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